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Chapter I

Statement of the Problem and the Methodology

Statement of the Problem

Since the beginning of mental testing, the concept
of the normal distribution of human intelligence has influenced
the theory of test construction to a great extent. This is under-
standable if intelligence itself is regarded in the light of the
knowledge concerning other human properties, for there is then
some justification to support the belief that it may be normally
distributed in human beings. Unfortunately, however, the basic
result of this concept in the field of mental test construction
has been to effect the construction of tests which, owing to the
properties of the normal curve, did not discriminate to the maxi-
mum possible extent amongst testees.

Although the theory of test construction has been
under consideration since the time of Binet's original work in
this field, during the past temn years or so a considerable amount
of specialized work has been done on this subject. The concepts
of discriminatory capacity and internal consistency of a test
have emerged and have brought about a gradual change in the
theory of mental test construction. The purpose of this work is
to examine in an empirical manner, as accurately as possible,

some of the newly-deduced theoretical assumptions in these same

concepts.
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The title of the problem has already been briefly

gilven as "On the Properties of Distributions of Test Scores".

Upon elaboration, it is found that the problem is essentially
concerned with the relationships between certain properties of
the items of a test, i.e. difficulty value and discriminatory
capacity, and the disceriminatory capacity of the test as a
whole. The variable properties of the test items will also re-
quire appropriate definition and, in this instance, the items
will be of the dichotomous type, i.e. they will either be passed
or failed by the testees.

As will be demonstrated later in Chapter III, the
discriminatory capacity of any test may be defined in terms of
the proportion of possible relations of difference, which the
test effects between testees. It is also evident that such re-
lations of difference between testees may only be effected
through differences in total test scores. If, however, the in-
dividual test items are not themselves discriminating between
testees, then the obtained differences in total test scores
would be simply due to random answers. In this case, the test
results would be completely meaningless as far as the ability
being tested was concerned. In the problenm,therefore, the
attempt will be made to keep the discriminatory capacities of
the individual items at a maximum level, through pretesting, and
then, by varying the difficulty values of the items, to obtain

the required distributions of test scores.
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As Ferguson has already observed (9, 1941), a test
s0 constructed that its items possessed the same difficulty
value, .5, and discriminated perfectly, would succeed in dividing
the testees into two equal groups, of which one made zero scores
and the other made perfect scores. Similarly, a test so con-
structed that its K items ranged in difficulty value from 1.0 to
1/K+1 by equal steps and discriminated perfectly, would divide
the testees into K+1 equal groups on the basis of total test
scores.

The two theoretical test distributions detailed
above, and many others not mentioned, remain only theoretically
obtainable. Since empirical data is being dealt with, the re-
striction to less extreme types of distributions will be neces-
sary. Essentially, therefore, the attempt will be made to con-
struet tests, which will divide the testees into two groups and,
at the same time, will discriminate within one of these groups,

all on the basis of total test scores.

The Methodolo

Now that the problem under consideratlon has been
expanded somewhat, the required methodology becomes apparent.
Firstly, the theoretical relationships lnvolved will be studied
and certain deductions will be made on the basis of logical ar-
guments. Secondly, these deductions will be tested empirically

as accurately as possible. Thirdly, the empirical results ob-
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tained will be studied in the light of these deductions and then

evaluated to ascertain whether they substantiate these same

deductions.
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Chapter II

Historieal Background (Summarized)

The application of the concept of normal distribu-
tion, developed by Quetelet, to the study of human mental ability
may be traced through its original use by Sir Francis Galton (7,
1869) and its general reinforcement by Karl Pearson (14, 1920-
27), to its influence on Binet, culiminating in his idea of Men-
tal Age (1, 1913). The later Stanford revisions of Binet's ori-
ginal tests embodied W. Stern's concept of the Intelligence
Quotient (I.Q.), which proved so popular that mental tests were
only constructed to measure I.4.'s and the idea of differentiat-
ing between individuals at somewhat the same level was, to a
large extent, ignored. Thorndike (16, 1926), although he recog-
nized a potential fallacy, suggesting as he did that the intelli-
gence curve for adult males may be positively skewed, made no
attempt to demonstrate this empirically.

Recently, considerable attention has been paid to
the theory of test construction. John A. Long and others (12,
1935) investigated the question of validation of test items,
while Jackson and Ferguson (9, 1941) studied carefully test re-
liability. This particular aspect was considered at length by
Ferguson (2, 194l1), and he also examined the possibility of

choosing test items by the "constant process™ (3, 1942). Finney
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(6, 1944) likened the latter method to Probit Analysis in use

in the fleld of toxilogical research. Later, Ferguson summed

up the general problems in test construction (4, 1945), and he
has recently crystallized his ideas on the rectangular distri-
bution of test scores (5, 1949).

The preceding brief summary is elaborated in

Appendix A,
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Chapter III

Test Discrimination and Item Selection (Summarized)

Test Discrimination (Detailed)

In his pressent paper in publication (5, 1949),
Ferguson argues briefly that, given a population of N individu-
als teking any one test, it is theoretically possible to make
N{Nz- 1) comparisons between them on the basis of total test

scores. This number of comparisons is, of course, governed by
the number of testees. Secondly, he postulates that these

N(N - 1) comparisons may be divided into two groups: relations
2

of equivalence and relations of difference. Therefore, since
the total number of comparisons is fixed, any test distribution,
which has the effect of decreasing the number of relations of
equivalence, must, at the same time, increase the number of re-
lations of difference. Also, the greater the number of relations
of difference, the greater the discriminatory capacity of the
test in question since each such relation indicates that one
testee is either superior to or inferior to another individual
taking the same test, on the basis of total test scores.
Finally, Ferguson is able to prove conclusively that a rectan-
gular distribution of test scores gives a minimum number of re-

lations of equivalence and must, therefore, also give a maximum
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number of relations of difference. This, in turn, means that

such a test, as a whole, has the greatest possible diserimina-

tory capacity.

Item Selection (Summarized)

Item selection comprised obvious difficulties be-
cause the difficulty value of an item, indicating as it does the
proportion of testees who pass the item in question, is no mea-
sure whatsoever of its diseriminastory capacity. It was necessary,
therefore, to use some statistic to correlate individual item
responses with total test scores and, while biserial r might
have been used for this purpose, its calculation would have been
very leborious. Instead, Whitfield's modification (17, 1947) of
Kendall's new coefficient of rank correlation (10, 1938) was used
and proved eminently suitable.

It was also decided that it would not be feasible,
for special reasons, to attempt the construction of Ferguson's
perfect discriminatory test (2, 1941) as our tests were intended
for administration to applicants for entry into the Cenadian
Armed Forces. Instead, the alternative plan of using "dummy"
jtems at the beginning of tests was suggested. However, when
the discriminatory capacity indices for the items of the origin-
al ten tests had been computed, it was found that there were not
enough items with high enough indices to carry out this new plan.
The empirical approach was then further modified in line with

Ferguson's theory (2, 1941), and three final tests were con-
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structed.

A detailed consideration of item selection and test

construction will be found in Appendix B.
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Chepter IV

Empirical Data: Original Part (Summerized); Final Part (Detailed)

The original empirical may be summarized as follows:

(a)

(b)

(c)

()

In all 1,050 test items were prepaered. Through careful scru-
tiny, these items were reduced to 750 and ten tests were con-
structed, each containing 75 comparasble items selected at
random. Each test contained five similer items, Nos. 30, 40,
50, 60 and 70.

The duplimats for the first two pages of the original test,
which were similar for all ten forms, and for all the items
of Form 1 were typed at MeGill. The balance were prepared at
Ottawa, where the tests were also run off and made up.

The Defence Research Board forwarded 299 copies of these
tests, 30 of each form except No. 6, to No. 2 Manning Depot
of the Royal Canadian Air Force at Trenton, Ontario. These
tests were rendomly administered to non-commissioned person-
nel, both recruits and reenlistments, with a 35 minute time
limit.

Upon return of the completed tests and before scoring, 13
copies were discarded either because they had been administer-
ed to French-speaking personnel or because they had been
wrongly assembled at Ottawa. Also, a total of 35 items were

elimineted, mainly because they turned out to be ambigious.
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(e) The percentage means (since the number of items in each test
were no longer comparable), the coefficients of variation
end the difficulty values of the five special items were
then calculated for each of the ten forms of the original
test. On the basis of the obtained values, it was decided
that the ten sub-samples involved were statistically com-
parable,

(f) The discriminatory capacity indices of all items, which ap-
peared visually promising, were evaluated using the special
modification of Kendall's new statistie (17, 1947). (A de-
tailed account of this section of the empirical investiga-

tion will be found in Appendix C.)

Upon scrutiny of the completed indices, it was
found that there were not sufficient items with high enough in-
dices to carry out the original theoretical plan. The latter
was amended in the following manner. Three new forms of the
test, Forms A, B and C were constructed. Each test contained
the same five "dummy" items, possessing a difficulty value of
egbout .90 and the highest discriminatory capacity available.,
These initial items were intended as a genersl encouragement
for all testees. In addition, fifty specially selected items,
Nos. 6 to 55 inclusive, were added to each test and the compo-

sition 6f these items is shown in Table 1.
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Table 1

Composition of Selected Special Items for the Final Tests

Form of Range of Item Range of Item
Test Difficulty Values Discriminatory Indices

A .61 to .80 (mainly .70) +.48 to +.87

B .41 to .60 (mainly .50) +.36 to +.89

c .21 to .40 (mainly .30) +.43 to +.93

These one hundred and fifty items were drawn from
an available total of 80 for Test A, 63 for Test B, and 79 for
Test C.

The time 1limit for each form of the final test
was the same, namely 25 minutes, and, on the basis of the theo-
retical concepts discussed in Appendix B, it was predicted be-
forehand that these forms would yield the following distribu-

tions:

Test A A negatively skewed distribution.

.

Test B : Either a bimodal or an approximate-
ly rectangular distribution.

Test C A positively skewed distribution.

(1]

In order to assure the most favourable circum-
stances for the empirical testing of these final forms of the
test, the eleven duplimats required for them were typed and

run off at MeGill University. One hundred and eleven copies
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of each form of the test, all comprising five pages, were then
carefully made up. Six copies of each form were retained and
the remainder were forwarded to the Defence Research Board
for transmission to the appropriate Royal Canadian Air Force
authorities at Trenton. Lastly, a covering letter was sent to
Ottawa, detailing the exact conditions under which these final
tests were to be given and emphasizing, once agein, the impor-
tance of the randomized administration of the tests.

One copy of each of the final forms of the test
will be found in Appendix E.

When these tests had been returned by Ottawa,
they were scored. It was found that one copy each of Forms B
and C, and two copies of Form A of these tests had to be discard-
ed because they had been completed by French-speaking indivi-
duals., It should also be noted that the first five items of
these tests were not scored, being "dummy" ones.

The frequency distributions for the three forms

of the final test are tabulated in Table 2.

Teble 2
Distribution of Test Scores on the Final Forms of the Test
Test Score Ereguencies
2ot ° Test A Test B Test C

GO WD O
L T I O I
e T I o B
PO 11
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Table 2 (Cont'd)

Distribution of Test Scores on the Final Forms of the Test

Test Score Frequencies
Test A Test B Test C

10

‘lllIHIHHN#HWP%#@@@PN!upﬂ@##pNNlepNHpPNINIll
LllllHllHlH!llIIHINHNIGNH!NGGHNPlﬁmH@mom#WQ

(¢
»
‘NMUGO’@#QPQH@HNPOW@GPO’U‘G#PPNHPUJHNl [ T T O T Y RO AR B B |

N 103 104 104
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The frequencies tabulated above were then graph-

ed using the most appropriate class interval, namely one of

% for Forms A and C, and one of 1 for Form B.

are as follows:

Form A - Graph 1 (page 17)
Form B - Graph 2 (page 18)
Form C - Graph 3 (page 19)

These graphs

The discriminatory capacity indices for these

distributions of test scores were also calculated, being de-

termined from Ferguson's new formula (5, 1949), whence

K+
n' - Z'f'i2
nl

X

E =

n -
k+ 1
when K = discriminatory capacity index of test distribution
and n = number of testees
and fi = number of testees making totel score i

eand k = number of items

number of possible scores

and k+ 1

The obtained indices, together with the means and the stan-

dard devietions of the final test distributions, and similar

statistics for a theoretical normal distribution are tabulated

in Table 3.
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Table 3
Statistics of Final Test Form Distributions

Form of Test N Discriminatory Mean Standard
Capacity Index Deviaticn

A 103 9771 36 .50 8.29

104 .9821 27.63 9.48

C 104 «9706 14,55 9.29

Normal 104 . 9721 27,50 6.00
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Chapter V

Summary and Conclusions

Summarx

The treatment of the problem may be briefly summarized as

follows:

(a)

(b)

(e)

(d)

(e)

Recent developments in the field of mental test construc-
tion had culminated in Ferguson's paper on Test Discri-
mination (5, 1949).

Since this paper introduced a new rationale, it was felt
that an empirical testing of its theoretical implications
was reguired.

In order to apply these new ideas empirically, it was
necessary to select items with the highest possible dis-
criminetory capascity. This difficulty was solved by
using Whitfield's modification (17, 1947) of Kendall's
new coefficient of rank correlation (10, 1938).

It was also imperative that the test samples be restricted
to a defined population. This criterion was met through
the cooperation of the Defence Research Board.

Ten forms of the original test, each comprising 75 items,
were constructed and randomly administered to a total

sample of 286 testees. According to the empirical re-
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sults obtained, the ten sub-samples involved were con-
sidered to be statistically comparable,

(f) When these tests had been scored and the required sta-
tistics of the items calculated, it was found that there
were not enough items to carry out the original empirical
plan, which hed been to construct an emended form of
Ferguson's perfect discriminatory test (2, 1941).

(g) The empirical approach was then modified in accordance
with Ferguson's theory (2, 1941) and three final forms
of the test, each comprising fifty control items, pre-
ceded by five "dummy" ones, were constructed. These
final tests were designed to effect certain specified
test distributions.

(h) These final tests were administered at random to three
numerically comparable sample groups, comprising 311
testees in all. The resulting empirical distributions,
when tabulated, conformed closely to the theoretically
predicted distributions.

(1) The discriminatory capacity indices, as defined by
Ferguson (5, 1949),were calculated for these final dis-
tributions end two out of three were found to be signi-
ficantly higher then that obtained for a superimposed

normael distributions of test scores.
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Conclusions

It has already been stated in the section on
"Methodology" in Chapter I that the empirical portion of
this paper would either prove or disprove the theoretical
deductions being tested. The conclusions which follow are,
therefore, for the most part dependent upon the empirical
deta obtained.

These conclusions are as follows:

(1) Ferguson's new theory of test discrimination (5, 1949) is
not only demonstrably valid in its theoretical applica-
tions to the field of mental test construction, but it is
also eminently suited for empirical treatment.

(2) Whitfield's modification (17, 1947) of Kendall's new co-
efficient of rank correlation (10, 1938) is theoretically
equivalent to biserial r correlation for the calculation
of the discriminatory capacity of individual test items.
In its practical use, however, this new statistic is
preferable, being much easier to computs.

(3) Ferguson's new index of test discrimination (5, 1949) is
a useful, descriptive statistic.

(4) Given a defined, restricted sample population and suffi-
cient pretested items, it is possible to construct three
types of tests of mental ability. These tests would

effect the following results, all on a basis of total
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test scores:

(a) One test would select a required proportion of the
testees and would efficiently discriminate between
those rejected.

(b) One test would efficiently discriminate between all
testees,

(c) One test would reject a required proportion of the
testees and would efficiently discriminate between

those selected.

(5) The time element is very important in mental tests of
the dichotomous type. It is felt that, if the time
limits for forms A and C of the final test had been 20
and 30 minutes respectively, the empirical distributions
would have approximated more closely to the predicted
ones.

(6) Since this new theory of test discrimination has proved
so promising in the field of mental testing, it is sug-
gested that future research should be along the follow-
ing lines:

(a) A more numerous selection and variety of original
jtems together with larger and broader test popu-
lations should be used.

(b) "Dummy" items should be included at both the begin-

ning and end of tests designed to yield rectangular

distributions.
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(e¢) The time element should be thoroughly investigated.
It 1is believed that, by varying the time limit and
keeping the critical score constant, it should be
possible to construct a test, which would select
increasingly smaeller or larger proportions of the

testees, discriminating all the time between those

so selected.

It is considered that, if the above suggestions were follow-
ed, it would be possible to construct mental tests, which
would ultimately approach empirically the theoretical test

of perfect discrimination.
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Appendix A

Historical Background (Detailed)

Early Part

Although Sir Francis Galton did not originate the
concept of the normal distribution, this being done by the
Belgian astronomer Quetelet, he was the first scientist to
really appreciate its potentialities and to apply its theory
to the problem of human mental ability. Thus, we have his dis-
course on human genius (7, 1869) in which he attempted to eval-
uate the rénge of human mental ability in accordance with this
concept and divided all humen beings into fourteen categories,
ranging from the lowest, "g", to the highest, "G".

In another of his books (8, 1907), Galton put his
finger exactly on the problem with which we are dealing here
when, discussing the application of these new statistical me-
thods to the research on humen intelligence, he stated "the
statistician .... 18 tantalized by the hope of getting hold
of sub-groups of sufficient size that shall contain no indivi-

duals except those belonging to the same species, and he is

almost constantly baffled".

Following upon Galton came Kerl Pearson, a dis-
ciple of his and the author of a biography upon him (13, 1914-

30). Whilst Pearson was primarily a geneticist and, as such,
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concerned with the laws of heredity, he was continually em-
phaslzing the importance of the normal distribution curve

and much of his work dealt with the application of this law

to his own line of research. Probably, the chief interest

of Pearson's work to us lies in his editing of "Tracts for
Computers™ (14, 1920-27) and in his founding of the journal
"Biometrika". 1In both of these instances mentioned above, he
was seemingly mainly interested in the value of the normal dis-
tribution curve to statistical methodology.

While Pearson was still very active and doing the
work mentioned ébove, in France Alfred Binet was perfecting
his tests, which were essentislly to become the first stendard-
jzed tests designed to measure human intelligence. It is true
that Binet worked with children, which facilitated his task to
some extent as he was dealing with maturing human organisms,
but his contribution to this particuler branch of science can-
not be denied. Unfortunately, however, for some reason Binet
had been impressed by this idea of the normal distribution of
human mental ability end this led, in turn, to his concept of
Mental Age. As he himself explains (1, 1913), this concept
was intended to allow parents and teachers to evaluate the
intelligence of any young child by comparing the child's Men-

tal Age to his chronological one.
Although Binet did not carry his ideas, at this



Page 29.

time, far enough to be of any definite influence, the advent
of W. Stern's concept of the Intelligence Quotient (I.Q.),

i.e. Mental Age in Months x 100, which was embodied
Chronological Age in Months

in the later Stanford revisions of Binet's original tests,
proved to be a most powerful one, spreading far and wide. This
concept by itself was accepteble, but when it was coupled with
the idea of the normal distribution of humen intelligence, it
exerted an overwhelming influence on the theory of mental test
construction. All tests were to be constructed so as to yield
measurements of the individual I.Q.'s, which were all impor-
tant, and the idea of differentiating between individuels at
somewhat the same level was, to a large extent, ignored.

The effect of the above concept even today on
mental test construction is readily apparent when the norms
for male College Freshmen in the 1943 edition of the American
Council on Education intelligence test are considered. In
this test a gross score of between 50 and 59 was only made Dby
1.3% of the sample, whilst one of between 160 and 169 was
only attained by 1.9% of the same semple population. On the
other hand, 14.3% of this population scored between 100 and
109, and 16.2% attained scores ranging from 110 to 119. The
lack of discrimination between individuals making scores near
the mean on this particular test does not require elaboration.

From Binet, we pass on to Edward L. Thorndike,
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whose influence on the theory of mental testing cannot be de-
nied. In his book (16, 1926), Thorndike makes the interest-
ing observation with regard to the normal distribution of
humen mental ability that "we gredually slid into the habit
of using the doctrine (normel distribution). This fashion
became so strong that, in recent years, psychologists have
assumed symmetry, even though the units taken at their face
value produced a markedly skewed distribution." However,
even though Thorndike presents some empirical evidence that
the ability in question is normally distributed in fourteen
year old children, and suggests that this same distribution
may be positively skewed in adult males, he does not attempt
to apply these ideas to the theory of test construction. Con-
versely, his whole book seems to deal with the concept of the
validity of intelligence tests and he attempts to treat this
subject in the light of his own personal theories regarding

the nature of humen mental ability.

Recent Part

John A. Long, Peter Sandiford and others (12,
1935), examined the whole question of item validity and,
whilst their survey is not, in a sensse, directly epplicable to
this paper, it is important because they were concerned with
exactly the same problem being faced here. They were attempt-

ing to test empirically certain theoretical methods for cor-
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relating dichotomous responses on individual test items to total
test scores. Thus, if diseriminatory capacity be substituted
for validity of test items, their problem becomes the one with
which this paper is concerned. Whilst their extensive work

does not bear directly upon this present paper since it is pro-
posed to use a new item discriminetory index, which will be
described later, it is quite interesting to note that on all
empiricel tests, except one, the biseriel r method ranked

first out of eight.

Later, Jackson and Ferguson (9, 1941) issued
their bulletin on the reliability of tests. Here again, the
experimental section of this bulletin dealing with the theore-
tical methods of computing the reliability of test items does
not concern this present paper except to note that the Kuder-
Richardson and split-half methods are cited as giving measures
of the internal consistency of a test.

In his book (2, 1941), Ferguson has once again
discussed this whole question, referring to the internal con-
sistency of tests and treating the theory of rectangular dis-
tribution of test scores and the question of item selection.

Later, Ferguson examined the possibility of
choosing test items by the "constant process” or Muller-Urban
method (3, 1942). In this process each test item is described

in terms of a limen, "which is an index of the point at which
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an item discriminates and of the standard deviation of a limen,
which is an index of the 'goodness' of discerimination®. Two
years later, Finney (6, 1944) followed up this paper of
Ferguson's by one in which he pointed out the close analogy
of the Muller-Urban method to Probit Analysis, in use in the
field of toxilogical research, and described the latter method.
In another paper (4, 1945) Ferguson summed up the
previous two papers, again discussed the theory of rectangular
distribution of test scores and suggested that "the general
rationale underlying the making of tests would not appear to
be fully appreciated by many test mekers". This thought has
been mainly responsible for this present work.
Quite recently, Ferguson has crystallized his
jdeas on the rectangular distribution of test scores and has

presented them in a paper (5, 1949).
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Appendix B

ltem Selection (Detailed)

When the question of item difficulty was inves-
tigated, obvious difficulties were at once encountered. It
was quite readily apperent that the difficulty value of any
single item was no measure whatsoever of its discriminatory

capacity for it represents solely 2}1, when‘izx is equal to
N

the total number of individuals passing the item and N is
equal to the total number of testees. It was also not denied
that the results on a particular test item influenced the
total test scores, since the latter were merely the sum of the
former. But, in this case, tests comprising a large number
of items, i.e. 75, were being dealt with empirically, so that
this fasctor was not considered to be of any great consequence.
It was quite precticable to use biseriel r cor-
relation, if test scores were normaelly distributed, or point
biseriasl r, if they were not, to correlate performances on a
particular test item with total test scores. However, this
represented a great amount of labour and, instead, a new theory
of rank correlation was investigated and found ideally suited.
It is described at length in the following paregraphs.
This new theory was first presented by the English

stetistician Kendall (10, 1938). His argument was based upon
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the fact that, if we are given two series of ranks to corre-
late, one can always be arranged in descending cardinal

order and the other compared to it. Kendall's originel sta-
tistlc,’r', was concerned with the consistent and inconsis-
tent comparisons, which would be obtained when this comparison

was made, and was defined as follows:

Number of consistent comparisons - number of incon-
A = sistent comparisons

Total possible number of consistent comparisons

K-L
or as /f -
S
when K = number of consistent comparisons
and L = number of inconsistent comparisons
and S = total possible number of consistent comparisons

K-1L
Also, since K+ L = S, then = 1 and it can be deduced

that +! £ £ & -~

In a private communication, Ferguson has demon-
strated that this original statistic of Kendall's was equiva-

lent to:

Number of consistent comparisons - number expected by chance

Total possible no. of consistent comp. - number expected by chance
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This new coefficient of Kendall's was very well
received, but the problem of tied rankings soon emerged and
had to be dealt with separately. After the war years, Kendall
himself attacked the problem (11, 1946) and, the following
year, Sillitto (15, 1947) went even further. Finally, as a
result of these previous works, Whitfield was able to deduce
independently (17, 1947), his conclusions being afterwards
verified by Kendall, the application of this new statistic to
the correlation of two variables, one being ranked end the
other dichotomous.,

The formula for Whitfield's modification was

exactly the same as the original one, i.e.

K-L

1 =

Also, all the observations regarding absolute value, range and
Ferguson's private communication apply equally well to this

new case. However, the method of calculation of consistent

and inconsistent comparisons was somewhat different. All the
individuals, who passed a given item, were ranked together and
so were those, who failed this same item. This was, of course,
in line with the premise that a certain ability is required

to pass any given problem, i.e. a mental test item. Then, once

the individuals taking a test had been ranked in order accord-
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ing to their total test scores, a pass on any given item fol-
lowed by a failure on the same item was regarded as a consis-
tent comparison. Similarly, a failure followed by a pass on
an item was considered as an inconsistent comparison. It was

thus obvious that, with regard to the above formula

S = XY
when X = total number of individuals passing a certain item
and Y = total number of individuals failing the same item
and N = X+ Y = total number of individuals taking test

Also, we have that
K+L = S
therefore L = 5-K
and K-L = K - (S - K), which provided an easy method of

computing this statistic.

There were two possible objections to the use of
this new statistic. Firstly, when the number of individuals
taking a test was very small, its possible values, although
they would always lie between 4+ 1.0 and -1.0, were greatly re-
stricted. This problem was investigated and the conclusion
arrived at that an "N" of 10 or less rendered this coefficient
fairly ineffective. However, with an "N" of 26 to 30, there
could be no objections raised to the use'of n o on this score.

Secondly, there was the whole question of ties

in the continuous variable, i.e. individuals making the same
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scores. This might have been due either to an irregular dis-
tribution of test scores or to the use of a test with e fair-
ly small variance. It was quite true that, in the case of
extended and frequent ties of this kind, the use of this me-
thod under discussion would have been largely invalidated.
However, in the present case, perhaps due to a fortuitous
combination of circumstences, there were very few ties in
ranks, all of very small extent, and this eventuality did not
have to be considered.

Now that the theoretical concepts to be used
in the construetion of the required final tests and in the
selection of the desired items have been presented, the com-
bination of these two approaches remains to be discussed.
As Ferguson points out (2, 1941), it is theoretically possibdble,
if we wish to select a third of our test population and to
discriminate between them at the same time, to construct a
test such that two-thirds of the testees make zero scores and
the remaining third make scores over the K items such that

N
fl-f2=f3=oooo=fK= .

3K

This result would be ar-

rived at through the use of K items whose difficulty values,
obtained from previous tests administered to the same test
population, ranged from .5 to .01 through equal steps. Na-
turally, all these K items would have to discriminate perfect-
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ly between testeses.

However, in the present case, this theoretical
ideal test would not have been desirable for special reasons.
All our testees were to have been applicants for entry into the
Armed Forces of Canada and it might have had an undesirable
effect upon the civilian population at large if a fairly size-
able proportion of them were to have completely failed a Service
Classification Test. It could have been argued that such un-
successful candidates would not have been aware of their com-
plete failures as they would not have been given their test
scores. However, these applicants, especially the weaker ones
amongst them, would certainly have had a very good idea of what

had happened to them.
In an attempt to overcome this difficulty, a

theoretical test of fifty items, all discriminating perfectly,

was proposed. The constructlion of this test is shown in Table 4.

Table 4

Proposed Construction of Theoretical Test

Item Number Difficulty Value
1 - 30 1.0
31 - 40 .30 to .21
41 - 45 .20 to .11

46 - 50 .10 to .01



Page 39,

The theoretical scores of s hundred testees on such a test

are tabulated in Table 5.

Table &

Theoretical Scores of a hundred Testees

Range of scores

)

6
11
16
21
26
31
36
41
46

5]
10
15
20
25
30
35
40
45
50

Number of Testees making Score

0
0
0
0
0

70

0
10
10
10

100

Such a test would have theoretically overcome the special ob-

jections, eliminated seventy per cent of all testees, on the

basis of total test scores, and, at the same time, discrimin-

ated to a large extent among the selected thirty per cent of

the testees, on the same basis.

Despite the above, when the empirical results
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of the original tests were known, it was realized at once that
this theoretical test still remained only theoretically ob-
tainable due to the blurring of the answer patterns. However,
a large number of items with fairly high discriminatory capa-
city were obtained and so an alternative plan was adopted.
Three tests were constructed with these special items and they
were all designed to discriminate between testees as described
by Ferguson (2, 1941). Test "A" contained items with a fairly
high difficulty value (mean .70) and was constructed so as to
yield a negatively skewed distribution of test scores. Test
"B" comprised items, whose mean difficulty value was .50, and
was designed to yield either a bimodal or an approximately
rectangular distribution. Finally, Test "C" contained items
with a fairly low difficulty value (mean .30) and, being the
converse of Test "A", was intended to yield a positively

skewed distribution.
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Appendix C

Empirical Data: Original Part (Detailedl

In the first instance, approximately 1,050 items
of mental ability, each on a separete 3 x 5 inch index card,
were listed for the original tests. These items were, for the
most part, derived from established tests of intelligence.

In addition, a few were taken "in toto" from such tests, prin-
cipally from the "Moray House Experimental Test".

In colleboraetion with the Director of this re-
search, each of these items was studied individually and
those, which seemed unsuitable, were rejected. Through this
process of careful elimination, the items in question were
finally reduced to 750. The distribution and the code system

of marking these items, each on its own individual card, are

shown in Table 6.

Table 6
Distribution and Code Marking of Original Items
Type of Sub-Classi-
Problem Group fication No. of Items Sub-Totals
Alphabetical A A-1-1 to 20 20
A-2-1 to 20 20
A-3-1 to 20 20

A-4-1 to 20 20
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Table 6 (Cont'd)

Type of Sub-Classi-
Eroblem Group fication No. of Items Sub-Totals
Alphabetical A A-5-1 to 20 20

A-6-1 to 20 20

A-7-1 to 10 10 130
Mathematicel B B-1-1 to 10 10

B-2-1 to 10 10

B-3-1 to 10 10

B-4-1 to 10 10

B-5-1 to 10 10

B-6-1 to 10 10

B-V;l to 10 10

B-8-1 to 10 10

B-9-1 to 10 10

B-10-1 to 10 10 100
Mathematical Series C C-1-1 to 80 80
Logical D D-1-1 to 30 30

’ D-2-1 to 30 30

D-3-1 to 30 30

D-4-1 to 30 30 120
Vocabulary E E-1-1 to 120 120
Analogical F F-1-1 to 40 40

F-2-1 to 10 10

F-3-1 to 20 20

F-4-1 to 30 30 100
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Table 6 (Cont'd)

Type of Sub-Classi-
Problem Group fication No., of Items Sub-Totals
Classification G G-1-1 to 80 80

G-2-1 to 20 20 100

Grand Total of ItemSeeceecoeocce 750

It should be emphasized that a sub-classification within a
group here indicates a special type of problem belonging to a
larger group. Thus, all the problems in group "C" were of
the seme type, whilst group "B" was divided into ten distinct
types of mathematical problems, each comprising ten items.

As far as possible, the items used were such that
a definite answer had to be supplied. However, if an item
allowed a choice of possible answers, six alternatives were
always presented. Similarly, if an item demanded the selec-
tion of a synonym or antonym, five possible enswers were al-
ways given. In this menner, it was hoped to render negligi-

ble the number of correct responses.

In order to ensure that there should be a ran-
dom distribution of these 750 items amongst the original ten
tests, the speclal system shown in Table 7 was adopted. It
is felt that this table is self-explanatory and the systema-

tic randomization of items thus achieved was acceptable to

the Director of this research.
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Table 7

Randomized Distribution of Ttems in the Original Tests

Item Code
No. Form of Test
A 2 3 4 5 6 7 8 9 10
A=-1- 1 2 3 4 5 6 7 8 9 10
A-l- 20 11 12 13 14 15 16 17 18 19
A-2-~ 9 10 1 2 3 4 5 6 7 8
A=-2- 18 19 20 11 12 13 14 15 16 17
A-3- 7 8 9 10 1 2 3 4 5 6
and so on down to
G2~ 8 9 10 1 2 3 4 5 6 Vi
G-2- 17 18 19 20 11 12 13 14 15 16

Thus, according to this arrangement, Item A-1-1 was placed in
Test 1, Item A-2-3 in Test 5, Item A-3-4 in Test 8 and so
forth.

Ten groups of 75 cards each, representing 75
items each in Tests 1 to 10 inclusive were then aveailable.
Each test was considered in turn and an attempt was made to
arrange the items in ascending order of difficulty. As was
later discovered from the answer patterns to these tests

and, as was to be expected, this attempt was none too success-



Page 45,

ful.

When this arrangement of test items had taken
place, items 30, 40, 50, 60 and 70 of Test 1, which were all
of different types, were each repeated nine times on special
cards. Then the same numbered items in Tests 2 to 10 inclu-
sive were replaced by these similar-numbered items from Test
1. This, of course, required the discarding of nine itenms,
which were in each case of a comparable type, from Tests 2
to 10 inclusive and also necessitated the slight rearrange-
ment of these tests in order that no two similar items might
be adjacent to one another. The somewhat bizarre procedurs
described above represented an attempt to measure the com-
parability of the different sub-samples involved and the re-
sults obtained will be described later.

Now the original tests were ready to be made
up. In order to speed up the whole procedure, the first two
pages, which were similar for all forms of the test, were
typed on duplimats together with the seventy-five items of
Test 1. The nine other groups of seventy-five cards each,
representing Tests 2 to 10 inclusive, were forwarded to the
Defence Research Board for similar treatment, together with
the five duplimats described above, and a covering letter.
In order that no item might be displaced accidentally, each
card was individually marked to designate its proper loca-

tion, thus 3-47 denoted Test 3, Item 47.



Page 46,

Unfortunately, when the other necessary dupli-
mats were made up in Ottawa and the ten forms of the test
run off and made up for distribution to the Armed Forces, a
somewhat unhappy mistake occurred. As can be seen by refer-
ence to Test 1 (Appendix D), it was intended that all the
Alphabetical Items under Code "A" should be preceded by the
alphabet in capitals. Since this was not also done at Ottawa
for Tests 2 to 10 inclusive, the difficulty value of the
items in Test 1 tended to be slightly different from that of
the remainder of the items.

It had been originally intended that this pro-
blem should be confined to test samples comprising English-
speaking personnel, who had volunteered as recruits at any
one of the Canadian Army's recruiting depots across Canada.
This restriction to such persons was necessary because the
tests were entirely verbal in nature. However, because of
the time element, the testees were instead non-commissioned
personnel of the Royal Canadian Air Force, both recruits and
reenlistments, who had already been accepted into the Air
Force and were actually tested at No. 2 Manning Depot at
Trenton, Ontario.

Originally, 299 copies of the original tests
were forwarded to Trenton by Ottawa. These comprised 30
copies each of all tests except Test 6, one copy of this test

being omitted in error. One copy of each of these tests will
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be found in Appendix D,

By prearrangement, these original tests were
administered randomly so as to obtain, if possible, compara-
ble sub-samples. Thus, if twenty persons were being tested
at one time, individuals 1 and 11 would be attempting Form
1l of the tests, individuals 2 and 12, Form 2 of the tests
and so forth.

When these 299 completed tests had been re-
turned and before scoring, it was found necessary to invali-~
date 13 of them either because they had been incorrectly made
up (one page missing or two pages the same) or because they
had been administered to personnel of French origin. Since
Air Force Classification Test results for all tested personnel
were given on the tests, it was possible to decide quite ac-
curately when this linguistic factor entered into the picture.

Table 8 shows the final distribution of the 286

tests available for scoring.
Table 8

Final Distribution of Tests available for Scoring

Form of Original No. of Invalidations Final No. of
Test Tests Completed Incomplete ZLing. Fac. Tests Avail,
1 30 - - 30
2 30 2 2 26
3 30 - - 30
4 30 - 2 28
5 30 - 1 29
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Table 8 (Cont'd)

Form of Original No. of Invalidations Final No, of
Test Tests Completed Incomplete Ling. Fac. Tests Avail,
6 29 - - 29
7 30 1 2 27
8 30 - - 30
9 30 1l 1 28
10 30 - 1 29
Totals 299 4 ~+ 9 = 13 286

When the original tests were being scored, it
was also found that a certain number of items had to be in-
validated. The total number of the items so treated in the
ten tests was 35 and, whilst some of these had been incorrect-
ly typed, the majority of these invalidations were due to
items, which turned out to be quite ambigious, and had to be
discarded. The distribution of these items is shown in Table

9.
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Distribution of Invalidated Items in Original Tests

Form of Originel
Test No. of Items

1 75

2 75

3 75

4 75

5 75

6 75

7 75

8 75

9 75
10 75
Totals 750

Items Total No. of Final No.
Invalidated Items Invalid. of Items
37 1 74
7; 59; 71 3 72
29; 49 2 73
4; 31; 37; 43 4 71
1; 9; 47; 359 4 71
5; 55 2 73
2; 10; 28; 57; 6 69
63; 67
15; 38 2 73
2; 11; 15; 31; 7 68
39; 47; 59
9; 22; 32; 39 4 71

35 715

Once ell the tests had been scored, omitting the

invalidated items, the total scores for each form of the ori-

ginal ten tests were tabulated.

Since the maximum possible

score for each form of the test varied, the average scores

were calculated on a percentage basis.

As a further measure

of the distributions of the total test scores, the coefficient

of variation for each form of the test was also worked out.

The results of these calculations are shown in Table 10.
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Table 10

Average Percentage Scores and Coefficients
of Variation on Original Tests

Form of ™N" ©Possible Total Average Score Coefficient of

Test Score Scores in Percentage Variastion
1 30 74 1,531 69.0 19.71
2 26 72 1,172 6246 17.87
3 30 73 1,491 68.1 14.04
4 28 71 1,317 66.2 20,05
5 29 71 1,321 64.2 18.05
6 29 73 1,365 64.5 17.38
7 27 69 1,259 67.6 18.85
8 30 73 1,414 64.6 18.29
9 28 68 1,194 62.7 17.26

10 29 71 1,362 66.1 22,40

Totals 286 715

Furthermore, the difficulty values for the spe-
cial items, i.e. 30, 40, 50, 60 and 70, for all forms of the

original tests were calculated. These values are tabulated

in Table 11.



Page 51.

Table 11

Difficulty Vaelues of Special Items in Origingl Tests

Form of "N" — Item Number -
Test 30 40 50 60 70
1l 30 .90 .87 77 .97 .66
2 26 .81 .89 .62 .77 .77
3 30 .90 .97 o77 76 o71
4 28 .93 «96 .71 .81 «63
5 29 «93 «96 .72 «75 .77
6 29 «93 «93 .83 .83 .62
7 27 .89 «96 .89 .75 .78
8 30 «90 .87 74 .90 .62
9 28 .89 .93 «75 .88 «55
10 29 .93 .90 .62 .70 .64

Total "N"™ 286

The results shown in Table 10 and 1l were then
discussed with the Director of this research. It was felt
that, because of the special nature of Test 1 (previously des-
ecribed) and taking into account the total size of the original
sample, the ten sub-semples involved cculd be considered

statistically comparable, within the limits of sampling error.
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FILL IN THE FOLILOWING PARTICULARS WHEN YOU ARE TOLD
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Your last name
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Date

Age in years

DO NOT OFEN THIS BOOKLET UNTIL YOU ARE TOID TO DO SO
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248d the following carsfully:

1. This is a short test to find out how quickly and accurately you can answer
a series of simple quesbtions, _

2. Some ofzthe questions are easy., Others are hard. No one is expected to do
,Fﬂkiwmeverytﬁing, but do the bast you can. , '
3. If you cannot do any question, leave 1t out and go on to the next, Return
to it later if yocu have any time lseft.

4, When you Tinish one page go on to the next.
5, You may do any rough work or figuring at the sides of the pages 1fiyeu wishe

6. The answers are to be written in the brackets at the right of the questions.

Here ars some practice gquesticns to shoew what you are expscted to do:

1. What number comes next in the following ssries ?
2, 4, 6, 8, 10 . (12)
The numbers increase 2 at a time, therefors the number after 10 will
be 12, and this number has been written in the brackets at the right,

2, Which word doss not belong in this list?
(a) green (b) violet (c) rsd {d) sweet (e) yellow (£) black {(4d)
These are all colcurs except sweet, so d is written in the brackets,

3. Bird is to air as fish is to
5 (2) water (b) swim (c¢) bait (d) net (e) catch { a)
| The answer is a, so this lstter is written in the brackets.

4, ABCDEFGHIJKIMNOPQRSTUVWXYZ
Print the letter befors ths sixth letter from the baginning of ths ( E )
alphabsat,.
The sixth letter from the beginning of thv alphabet is F, and the
“the letter before it is E, z0 E has bsen writitcn in the bracietz.

5, Last Tuesday was April 19th. If next Thursday is thrae daya wwmy,
whet day of the month is teday? (25 )
Today must be Monday, April 25%8h, s0 25 has been written in the bracketso

Yow go ahead and try the following questioms:

6. Vhat number comes next in the followline series ?

1, 10, 2, 20, 3, 30 )
7. Which word dces not belcng in thies list ? ‘ .

(a) wood (b) iron (c) copper (d) lead {2) tin (£) aluminum ( )
8, Snow is to winter as rain is to

(a) water (b) umbrella (c) cloud (@) shower (e) summer ( )
9, One third of one half is ? . ( )

2 T e £ oo Vg ey ({7
10, A car is travelling ot 60 n.p.he. How long will it Juks ©o caver ( :

240'miles ?

The questions you have just done wer2 praciics yutstliills.
The questions in +his test must be answered in the sang way
You will be given 35 minutes to do this test.

Ask no cuestions at all during the test.

50 NOT TURN OVER TII3 753 TNTIL YOU WRE TOTD 70 1 30



1, Black is to white as love is %o
(a) arfection (b) like (c) lsave (d) hate (8) admire (

. Prevent means the sams as

"> (a) stop (b) help (¢} open (d) shut (e} wide " Ty

3, If the second day befors yesterday was Monday what day will it
‘be tomorrow ?

e

4, What nuambsr comes next in the followlng seriss ?
1/2, 3/4, 5/8 ‘ {

5, ABCDEFGHIJKIMNOPQRSTUVWAYZ B T
If the alphabet were reverssd which lstter would cccupy the

position that D doss now % (
6, Link is to lank as s8i1l 1is o .
‘ () sall (b)) sell (c) sole (d) sull (&) sail (
7. What numbar comss pext in the ”followiné ‘series ? ; |
1.01, 2,05, 3,09, 4.13 , (
8, Acar is travelling a distance of 120 milss, If it covers the
first half of ths journey in 170 minutes end the second half in
130 minutes, what is its averags speed for the journsy ?® {.
9. Engine is to car as spring is %o
(a) gear (b) wheel (c) clock (d) seusion (&) wagor {
10, Print the letter in the word “Gimumspe@‘@“ that i3 as far frox
' ths bsginning as R is frox the end {
11, What number comes nexb in the followling asxiss ?
5, 6, 8, 11 ' {
12, Rake is to take as rall s to
(2) tail (b) tale {(e) talk (&) 5ilko (o) tems {
13, Enta‘il means the seme ag ‘
{a) allow (b) peramit (c) necsssitate (&) dsny (¢) hop= {
4, April is to August as Septembsr ia %o % {
15, Indicats the word that doss not balong.
(2) train (b) car (e) plams (&) mea? (e) glidar (2] ship {
16, What numbsr comss néxt in the following seriss ?
1/3, 2/5, 3/7 | (
17, A boy covers 1/6 of his journsy on foot; he rldes a strsetear
o for 4% of his journey ard then covars the final mlle of his
journsy on foot again., How leng wae his journsy ? (
18, ARCDEMHITKLMNOPQRSTUVWAYZ
If the alphabet started at J instead of A, what would then be
ths ninth lsttsr ? : (
19, Tndicate the word that doss not bslong '
(a) engins (b) fan (c) gear (d) piston (e) %irs (£) cylinder (
20, Urbans means the same as . , ,
" (a) urban (b) ewavs () loud () fair (s) long (

21, April is %o August as Novsmber is %o ? (



22,

23
24,

25,
26,
27,

28,

29,
30,
31,

324

33
34
35.

36,

37.

38,
39,

40,

at_25 and 15 mep.he. respscﬁ?vsly, how long will it be befors

4

What number comas next in ths following serles %
3, 9, 8, 6, 13

If two cars Pour milss apari ars $ravelling towards ons another

et et

they mest %

ABCDEFGHIJKIMNOPQRSTUVWXYZ s
If g11 $ke lsttsys in the wold "rangs" were removed frcm the
alphabat, what would then becoze thes fourteenth letter ?

Irdicate ths word that dces not belong. ) .
(a) 4dsz (-} %hought (e) act {@) nction (&) faney () drs

Tall is %0 short as peacs is Ho ' '
(a) pleaty (b) ratience (e} suffering (d) fiercs (s) strife

How many cuble fest of water will £ill a tank 5 1/2 £&. by
8 ft. by 12i%. %

ABCDEFGHITKINNOPQESTUVWXYZ .
Print the fourth lstter bafora ths =inth letier aftsr X in the
alphabst,

Indicate ths word that dcas nod tslong.
(a) numbsr (b) total (c) scors {d) amount (e) add (£) sum

Tall is tc skort as gliant iz %o
(a) elf (b) dwar? (c) monster {3} fairy (e) godlin

Mute msans ths same as
(a) 1oud (B) clesar (¢} sourdless (d) sofi {s)far

APRCDEFGHITEIMNOFQRSTUVWXYZ
What lsbisr ccmss jusy as far wiar P In Shs alphabet as O cowss
after L in the werd “Simplificati-* ?

Indicate ths group that doms mfﬁ hylong
(a) 30 (b} 70 (e} 80 (&) 75 (o) 4T (£)

Branch is to tres ag coach is %6
(a) plane (b) tcat (e) fish (2) tmin (¢} snaks

Enhance mesans bthe sams agF - -
(a) plundsr (b) intensily (e) paiat (4) draw (o) sketch

ABCDEFGHIJKIMNOPQRSTUVWXYZ: :
What lstter comsa ‘ush as far aftaw I 4in the alrvhebetb as T

comes aftsr E in the word wRsglivnbion™ ?

What number comes nsxb in the following sexies ?
16, 71 12, 9, 8

A boy left home at two otclock exactly, walking at 4 miles
per hour. If he arrived at his dsstinaticn at 45 minutes
past thres ofeclock, what distance had he coversd ?

ABCDEFGHITKLMNOPQRSTUVWKYZ
If the alphabel were revarsad , which lstter would occupy

the position that W doss now %

Pulverize msans the sams at
(a) crush (b) hit (c) beat (d) slap (s) push



1.

iz

43e

44,
45,
46,
47,

48,

43,
50,
51,
52,

53,

A man wakes thrse purchasss, which amount &o $ 4420, If the sum
of the first and third purchases is half that of the sscond ons,
what is the amount of the sscend purchase ?

-t et

ABCDEFGHI JKIMNOPQRSTUVWXYZ ' |
If the alphabst started at P instsad of A, what would then bs
ninth lsttsr ?

If 60 m.pehte 18 equivalent to 88 faot per sscond, how fast must a
oa;vbe travelling %o cover 528 fest in four seconds ?

Dud» means th® san=s as h
(a) knave (b) vietin (¢) obiset (d) heavy (2) dandy

Print ths lefiter in the word "Rataliaticn® that is as far from
theuend as 0 is from the beginning, )

Indicate the word that doés no% belong, )
(2) picturs {b) frams (¢) drewing (&) palating (e)photograph
(£) portrait , .

Surmiss msans Yhs sams as
(a) belisve (b) conjecturs {e) state (&( trust (s) hold

March is to Saptember as July is to ?‘

What number comes nsxt in the followling series ?
2/7, 4/14, 8/21

Meal iz to mals as b=ar is o
(a) bore (b) reab (c) rabs (a) bars (e) beax

Vindictive meens the same as
(a) evil (b) hard (e) rags (d) vevemgsful (@) victim

In a esrtain code MVYDHYK means FPameapd® . Usa this eods
to write “road®,

4

Tpdicate the woerd that doss not valonge
{a) o1d (b) ore (c) morse (a) orangs (o) casis (£) often

T41% is 40-short as solid iz to
(a) rard (b) heavy (c) strong {1} mesk (=) hollow (£) desp

Chasm means the sams as
(a) rift (b) rangs (e¢) wide {4) leng {a) flat

Ons-fourth is %o ons-elsventh as 55 1s t2 P

What is the numbsr two-nlnths of wiich is 18 2

ABCDEFGHIJKLMNUFQRSTUVNXYZ
If all ths letters in the word *Raise® wers removed from the

alphabet, what would then become the tenth letter ?

Indicats the word that dces nol belong.
(a) woman (b) lock (c) ghip (d) apartment (e) alivs (£)lccomotive

In a certain cods KLWPSHAL means "Depilate©™. Use this cods
to write v"$ide™,

Indicates the word that does not, belonge
(a) ags (o) aim (c) again (8) piain (e) ace (£) art



6

Bz. Oneffogygh‘;s ?q ope-f&fth as 40 is to
33, What number, when multiplied by itself;.is 9 less than
F,g*“*one-soventhror~126-?

64, ABCDEFGHIJKIMNOPQRSTUVWXYZ o
Print the seventh letter bafors the fourth letter after O
in the alphabet

65, What number comes next in the following series ?
5, 1/5, 7, 2/7, 9

66, Anecdote means the same as
(a) poison (v) tale (e) drug (@) medecins (e) relief

67, If the third day befors yassterday was Monday; what day
will it be tomorrow ?

68, Easy is to simple as vehicle is to
(a) aeroplane (b) car {¢) horse (d) dog (e) vehement

69, ABCDEFGHITKIMNOPQRSTUVWXYZ S
If every second letter, namely B,D,stc, were left out of the
a;phabet, whigh letter woul@ the become the tenth one ?

‘70, - Indicate the group that does not belong,
(a) 20D (v( RTU (e) NFQ (d) EHI (e) IO (£) DFG

AN Fracas méahs the.samc as
‘{a). push (b) pull (c) toush (&) xow (e) sleep

7. 1In a certain cods KPZWSBIL means "displume”. Use this cods
to write ”lime“cr ; .

?75. One-seventh is to cne-ainth as 83 is o 7

74, A pie is cut so that one plsce, which is ons=twslfth of the
pie, is twice as large as each of the other pisces, Into how

many pieces is the pie cut ?

75, If today was the twelfth of the month and a Tuesday, what day
was the first of the month ?

IF YOU HAVE ANY TIME LEFT GO BACK AND CHECK YOUR ANSWERS
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ead the f@llowing carefully:

1.

2e

3e

4.
Se

€e

This is a short test to £ind out how quickly and accurately vou can answer
a series of simple quesiinns,

Some of the questions ars eaey. Others are hard, No ons is sxpeeSed to do
everytiing, but do the bsst you cans

If you cannot do any questicn, leave it out and go on to the next., Resturn
to it later if you have any “ims left.

When you finish cne page go on to the next,
You may do any rough work or filguring at the sidss of the rages if yocu wish,

The ansgwars are %c be written in the brackets ab the right of the questioné.

Here ara some practice questions to show what you are expected to do:

Now go

Fq

1.

2.

3e

6.

76

8e

%

10.

g~ R . N - T

What number ccmes next in the following series 2

2, 4, 6, 8, 10 ' (12 )
The numbers incrsase 2 at a time, therefors ths number after 10 will

be 13, and this number has bsen written in the brackste at ths right,

Which word doss not belong in this 1list?
(a) green (b) violet (c) red (a} swaet (e) yellow (£) black {a)
These ars all colcurs except swaet, 30 4 is writtsn in the brackets,

Bird is to air as fish i= to
(a) weter (b) swim (e) bait (d) nes (8) caseh { a)
The answer is a, so this lstter is written in the bracksts.

ABCDEFGHIJKIMNOPRRSTUVWKYZ :

Print the letter befors the sixth letter from the beginninge of ths ( B )
alphabat, ‘

The sixth lstter from the begluuiug of v alphabst iz P, and the

the lettsr before it 1e¢ E; 99 E has bsen wridien in Shs bhrneksie.

Lagt Tuesday was April 19th. If naxf Thursday is thrse days wway,
what day of the menth is today? { 25 )
Today must be Mondey, April 25th, so 25 bas bsen written in the bracksts.

ehsad and try the following gquesticnss

What rumber comes next in the followine ssries @

1, 10, 2, 20, 3, 30 {( )
Which word does not belong in thiz 1list ?

(a) wood {b) irem (c) coppar (&) lead (o) tin (£) aluminum { )
Snow is to winter as rain is to .

(a) water (b) umbrella {e) elovd (&) showsr (o) summer S | )
Ons third of one half is ? 0 )

A car is travelling at 60 m.po.ho. How long will it take %o cover
240 miles % ( )

The questions you hava just dore wsre practice gquestiona.
The questions in this test must te answered in the same way
You will be given 35 minutes to do this test.

Ask no questions at all during the test.

DO NOT TURN OVER THIS PAGE UNTIL YOU ARE TOLD TO DO SO



2

. 3

5.

6.

7.

9»

104

1le

13,

14.
15.

16.

170

18.

.19.

RO.

Black is to white as day is to
(a) light (b) noon (c) afternoon (d) night (e) evening

If tHe day after tomorrow is Wednesday then the day before
yesterday was

Indic¢ate the word that does not belong
(a) eat (b) feat (c) easy (d) erect (e) emulate (f) even

Engine is to car as locomotive is to
(a) train (b) railway (c) track (d) coach (e) signal

Propel means the same as
(a) trap (b) trip (e¢) push (d) hold (e) run

Iniicate the word that does not belong
(a) red (b) scarlet (c) purple (d) pink (e) crimson (f) green

Droll means the same as

(a) humorous (b) funny (c) odd (d) facetious (e) pleasing

What number comes next in the following series

1’ l",. 3’ 6) 5

A car is travelling a distence of 120 miles. If it covers

the first half of the Journey in 95 minutes and the second
half in 85 minutes what is its average speed for the journey?

Print the letter in the word "symbolism®.
That is &s far from the beginning as "B™ is from the end.

Rake is to ﬁake as rdng is to
(a) rank (b) raid (¢) tung (d) tang (e) teng

Indicate the‘word that does not btelong
(a) wall (b) window (c) large (4) door (e) flcor (f) ceiling

Ensue means the same as _
(a) trust (b) despise (c) result (d) hate (e) love

February is to June as July is to

What number comes next in the following series
8, 5,711, 8, 14

A boyf; covers 1/5 of his journey on foot; he rides a street
car fr £ of his journey amd then covers the final 1} miles
of his journey on foot again. How long was his journey?

If the alphabet started at J instead of A, what would then
be the tenth letter?

Indicate. the word that does not belong
(a) aim (b) object (c) goal (d) end () start (f) upshot

Schema means the same as
(a) play (b) drema (c) musical (d) outline (e) view

February is to June as September is to

If two cars eight ‘miles apart are travelling towards one
another at 55 and 25 M. P.H. respectively, how long will it

be- Bafore they meet?



23.

2k

25 C

264"

27

.
3l.
324
33.
34
.35.
36.

- 37.

38.
39,

40.

If all the letters in the word "force" were removed from the

alphebet, what would then become the thirteenth letter?
Indicate the word that does not belong »~

(a) image (b) picture (c) sketch (d) writing (e) copy
(f) painting

Amorous means the same as
(a) p;lea_sing (b) bitter (c) loving (d) sweet {e) hard

How meny cubic feet of water will fill a tank 6 f£t. by

7% £t. by 11 ft.

"Print the seventh letter before the third letter after

R in the alphabet.

Indicate the brd that does not belong
(a) hoot (b) sleep (c) squeak (d) hiss (e) shout (f) squeal

Myth iaeans tihve sape as
(a) history (b) writing (c) speech (d) legend (e) talk

What letter cames just as far after K in the alphabet as
B comes after S in the word "unjustifiable®

Tall is to short as kgiant is to
(a) elf (b) dwarf (c) monster (d) fairy (e) goblin

Boat is to sea as diver is to
(a) helmet (b) suit (c) underwater (d) ground (e) air

Endurg means the same as ‘
(a) possess (b) have {c¢) hold (d) undergo (e) trust

What zﬁumber comes next in ths following series
10, 11, 14, 11, 12, 15

Tall is to short as stupid is to
(a) dumb (b) idiot (c) intelligent (d) cautiqus (e) sly

What Aumber comes next in the following series
5/1, 8/2, 11/3

Link is to lank as till is to
(a) tell (b) tall (c) toll (d) talk (e) teke

A boy left home at 30 minutss past two o'clock, walking
at 5 miles per hour. If he arrived at his destination
at 42 'minutes past three o'clock, what distance had he
covered?

If thé alphabet were reversed which 1l etter would oecupy
the position that N does now?

What humber come s next in the following series
10, 9; 13, 7, 6

Pulverize means the same as
(a) erush (b) hit {c) beat (d) slap (e) push

- 42,

Print the letter in the word "behaviour"., That is as far
from the end as "I" is from the beginning.

If 60 M.P.H. is equivalent to 88 feet per second, how fast
must a car be travelling to cover 660 feet in six seconds.

H
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43.

L.

45

46.

47.

48.

.49

50,

2

52,

- 53.

54 .

55.
56-

57.

.58,

. 59.

60,

62.

- 63.

Tardy means the same as
(a) late (b) early (c) run (d) walk (e) talk

Jume is to November as April is to

What number comes next in the following series
15, 3, 18, 8, 21

Surr'e'ptitious»maans the séme as :
(a) open (b) closed (c) secret (d) wide (e) long

A man makes three purchases which emount to $5.40. If the
sum of the first end third furchases 1s half thet of the
second one, what is the amount of the second purchase?

If thé alphabet started at E instead of A, what would
then be the eleventh letter?

Tall is to short as shov} is to
(a) explain (b) act (c) expose (d) confess (e) motice (f) hide

lMeal is to male as bear is‘to
(a) bore (b) reab (c) rabe (d) bare (e) boar

It the alphabet were reversed which letter would occupy
the position that E does now?

Burnish me ans the sax'ms~ as
(a) erase (b) polish (¢) roughen (d) rude (e) paste

One-seventh is to one-twelfth as 48 is to

If all the letters in the word "stamp® were removed from the
alphabet, what would then become the seventeenth letter?

What is the number two sevenths of which is 1/

Iniicate the word that does not belong
(a) boy (b) high (c) aeroplane (d) suit (e) tree (f) boat

If every second letter, namely B, D, etc., were left out
of the alphabet, which letter would then become the
eleventh one?

Prohibit me ans the sams as
(a) forbid (b) allow (c) leave (d) part (e) go

What number comes next in the following series
7, 48, 8, 63, 9

In a certain code KLWPSHAL means "Depilate® use this code

to write "Tide".
One-third is to one-fourth as 12 is to

If the first of January is a Friday what day must the last
day of the month be%

What number, when multiplied by itself, is 8 less thanm
ong~third of 99 :

64.

Print ‘the ninth letter before the second letter after W in
the alrhabet

F



65o
66.

67.

70,
71.

12.

4.

75

In a certain code PQNAZMUD means "Debonair ", use this code
to write Rbbe

Indicate the word that does not bel ong
(a) base (b) boy (e) bill (d) bald (e) brave (f) slave

Easy is to si‘mple as maze is to
(a) lane (b) road (c) highway (d) puzzle (e) atation

Indicate the group that does not belong B
(a) 36 (b) 72 (c). 108 (4) 24 .(e) 98 (£) 84

What latter comes just as far after P in the alphabet
a8 I comes after X in the word "Inexactitude"

Indicate the gmup that does not belong
{a) ACD (b).R‘I’U (c) NPQ (d) FHI (e) LNO (f) DFG

What number comes next.in the following series
1/3, 2/2, 3/9, 4/k, 5/27

If today is Friday what was the fourth day before tomorrow?
One-sixth is to one-eleventh as 33 is to

In a certain code OAGZFOK means "Country®., Use this code
to write Your ‘

A ple is cut so that. one piece, which is one-thirteenth
of the-pie, is twice as large as sach of the other
pleces. Into how many pieces is the pie cut?

IF YOU HAVE ANY TIME LEFT GO BACK AND CHECK YOUR ANSWERS
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ead the following carsfully:

1. This is a short test to find oub how'quickly-and accurately you ean answer

-

Se

4,
e

6o

2.

a serieg of simple guestions.

Seme of the questions ars easy, Others are hard. No one is expected to do

everytiing, but do the bsst you can.

If you cannot do any questicn, leave 1% out and go on to the next. Return
to it later if you have any tims left.

When you finish cne page go con to the next,
You may do any rough work or figuring at the sides of the pages if you wishe.

The answers are to be written in the brackets at the right of the questions.

fere aras some practice questions to show what you ars expected to do:

1.

2,

3e

Now go

6.

7

8.

10,

What number comesg next in the following series 2

2, 4, 6, 8, 10 ' { 12)
The numbers increase 2 at a time; therefors the number after 10 will

be 12, and this number has been written in the brackets at ths right,.

Which word doss not belong in this list?
(a) green (b) violet (¢) red (d) sweet {(e) yellow (£) black {a)
These ars all colcurs except sweet, so d is writtsn in the brackets,

Bird is to air ag fish is to
(2) water (b) swim (e) bait (d) net () cateh {a)
The answer 1s a, so this letter is written in the brackets,

ABCDEFGHITKIMIOPQRSTUVWIYZ

Print the letter befors the sixth letter from the beginning of the {2)
alphabat, _ ' ‘

The sixth letter from the beglinning of t7¢ alphabet is F, and the

the lohtter before it is E, o ¥ has hsen wribien in the bra@ket&.

Last Tuesday was April 19the If next Thurzday is three daya away,
what day of the month is today? ( 25 )
Today must be Monday, April 25%h, so 25 has been written in the brackets,

ehead and try the following questisms:

YWhat ﬁumber comes next in the folicwing series ?

1, 10, 2, 20, 3, 30 ( )
which word does not balcng in thiz iist 2 ) -

(a) wood (b) iren (c) coppsr (a) isad (2) tin (£) aluminum ( )
Snow is to winter as rain is to '

(a) water (b) umbrella (c) cloud (@) shower (e) summer ( )
One third of one half is ? ( )

v3

A ecar ig travelling at 60 n.p.h.. How long will it Guks €p covs
240 miles ?

The questions you have just done wers rracy
The questions in this %est rmust be answered Iiu
You will be given 35 minutes %0 do this test,

Ask no cuestions at all during the test,

DO NOT TURN OVER THIS +.GE UNTII YCU ARE TOTD 70 ¥ 30



10.

11.

12.

13c

15 °
16.
17 *

18.

19.

20.

" How

Black is to white as life is to
(a) living (b) existence (c) death (d) illness (e) sickness

‘Indicate the word that does not belong |

(a)'ankle (b) leg (c) knee (d) oollar (e) foot (f) toe

e s e

uoat is to sea &s car is to | ;
(a) hill (b) dale (c) town (d) road (e) garage

_Emulate means the same as

(a) rival (b) fight (c) kill (d) imitate, (s) wound .

A boy left home at 15 minutes past three o'clock, walking
at 6 miles per hour. If he arrived at his destination
at 35 minutes rast four o'clock, what distance had he
coverpd?

Truant means the same as
(a} di vorcee (b) absentee {e) 10531' (d) winner (e) false

If 60 M.P.H. is equivalent to 88 feet per second how fast
must a car:be travelling to cover 330 feet in five seconds?

Print the letter in the word "surmountable" that is as
far from the end as "T" is from the beginning

Iniicate the word that does ot belong
{a) water (b) milk (c) beer (d) wine (e) sugar (f) whisky

Veunt means the sane as
(a) teunt (b) hold (c) heave (d) have (e) boast

January is to Jupe as July is to

If the alrhabet started at E instead of A, what would then
be the seventeenth letter

Bondage means the same as
(a) punishment (b) slavery (¢) imprisonment (d) trial

(e) sentence

If all the letters in the word "manly" were removed from the
alphabet, what would then become the fiftesnth letter?

Frecise means the same as
() careful (b) exact (c) long (d) brief (e) light

Print the sixth letter before the third letter after M in
the &l phabet.

Easy is to simple as machine is to
(a) mot_:or,(b) part (c¢) gesoline (d) cylinder (e) fan

Mystify means the seme &S
(a) hide (b) lose (c) retain (d) puzzle (e} bresk

what letter comes just as far after L in the slphabet as G
comes after R in the word "chronological"

Indicate the word that does not belong
(a) pail (b) trail (c) plum (4) plan (e) plume (£) price

Engine 1s to car as rib is to
(a) lung (b) skeleton (c¢) brain (d) heart (e) leg

many cubic feet of water will f£ill a tank 6 ft. by
103 ft. by 11 ft.
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24.
25.

26,

27-

30.

31.

32.

. 3‘0

35.
36.

.

42.

L3

Duplicate means the same &as
(a) write (b) run (c) race (d) copy (e) walk

If today is Friday what was the third day before tomorrow

#hat number comes next in the folloning series

5y 5, 9, 17

If every sixth letter, namsly ¥, L, etc., were left out of
the alphabet, which letter would then become the
fourteenth ocne?

If the alphasbet were reversed which letter would occupy
the position that F does now?

Dra;s%ic means the sgme as
(a) violent (b) heavy (c) hard (d) soft (e) eaay.

What number comes next in the following series

2,3,4,9,8

Tall is to short as giant is to
(a) elf (b) dwarf (c) monster (d) fairy (e) goblin

A car is travelling a distance of 200 miles. If it covers
the first half of the, journey in 125 minutes apd the
szcond half in 115 minutes what is its awrago speed for

the journey?

Print the letter in the word "hntouch'éble . ‘That is
g@s far from the beginning as T 13 from the end.

Rake is to take as rido is to .
(a) rode (b) read (c) tide (d) talk (e) toll

Wrest means the same as
(a) turn (b) twist (¢) twain (d) trouble (e) trace

Juns is to November as Februery is to

what number comes next 'in the following series

2 7;4’4’6

A boy covers % of his journey on foot; he rides a strest
car for 2/3 of his journey and then covers the final
5 miles of his journey on foot again. How long was his

journsy?

If the elphabet started et I instead of A, what would
then be the eleventh letter?

Indicate the word that does not belong
(a) movie (b) producer (c) actor (d) script (e) watch

(£) director

Pulverize msans the same a3
(a) crush (b) hit (c) beat (d) slap (e) push

May is to December as January is to

What number comss next in the following series
l 3’ 5’ 2 1”
If two cars ten miles apart are travelling towards one

another at 40 and 10 M.P.H. respectively, how long will it
bs before they meet? }
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Read the fcllowing carefully:

1.

2e

Se

4,
So

6,

This is a short test to find out how quickly and acceuratsly you can answsr
a series of simple questions,.

Some of ths questions are easy., Others are hard. No ons is expecied to do
everytiing, but do ths best you can,

If you cannot do any question, leave it out and go on to the next. Return
to it later if ycu have any time lsft,

When you finish one page go on to the next,
You may do any rough work or figuring at the sidss of the pages if ycu wish,.

The answars are to be written in the brackets at the right of the questions.

Hereyara some practice qusestions to show what you are expected to do:

1.

What number comes next in the following series ?
2, 4, 6, 8, 10 ( 12 )
The numbers increase 2 at a time, therefors the number after 10 will

- be 12, and this number has besen written in the brackets at ths right.

2.
3e

4,

Now go

6.
7.
8.

9e

10,

Which word doss not belong in this list? A
(a) green (b) violet (c) red (d) swest (e) yellow (£) black (4}
Thess are all colcurs except swset, so 4 is written in the brackets,

Bird is to air as fish is to ,
(a) water (b) swim (c) bait (d) net (e) catch { a)
The answer is a, so this letter is written in the brackets,

ABCDEFGHIJKIMNOPQRSTUVWXYZ
Print the letter befors the sixtlh letter from the baginning of the ( B )

alphabat, ‘
The sixth lettar from the beginning of the alphabet is F, and the
the letter before it is E;, so E has been wridicn in ths braciatu.

last Tuesday was April 19th. If next Thursday is thrse days wwmy,
what day of the month is tcday? ( 25 )
Today must be Monday, April 25th, s0 £5 has been written in the brackets.

ehead and try the following questions:

What npumber comes next in the follcowing series ?

1, 10, 2, 20, 3, 30 ' ( )
Which word does not belong in this 1list ?

(a) wood (b) iron (c) coppsr (d) lead (a) tin (£) aluminum ( )
Snow is to winter as rain is to

(a) water (b) umbrella (e) cloud (d) shower (e) summer ( )
One third of one half is ? ( )

A car is travelling at 60 m.p.ho. How long will it take to cover
240 miles ? - B - ( ?

The questions you have just done wers practice questions.
The questions in this test must be answersd in the same way
You will be given 35 minutes to do this test,

Ask no questidns at all during the test.

DO NOT TURN OVER THIS PAGE UNTIL YOU ARE TOID TO DO SO



J-o Black is to white as good is to
(a) indifferent (b) bad (c) cherming (d) polite (e) virtuous

2. Engine is tc car as trunk is to
(a) tree (b) ground (c) earth (d) seed (e) plant

3. Jhat npumber comes next in the follcwing series
5, 3, 10, 7, 15

Lo Indicato the word that does not belong y

(a) salary (b) wage (c) income (d) spend (e) payment
(rk_) renunmeration : e _

5. Easy is to simple as water is to '
(a) level (b) liquid (c) pool (d) bowl (e) basin

6. Gaunt means the same as
{a) poor (b) lean (c) tender (d) hard (e) soft

7. March is to September as October is to

8, If the alphabet were reversed which letter would océupy :
the position that G does now?

9. If all the letters in the word "mercy"™ were removed
from the alphabet, what would then become the sixteenth
letter?

10. Divert means the same as
(a) many (b) most (c) deflect (d) push (e) tug

1l. What number comes next in the following series
35 4y 55 455

12. A car is travelling a distance of 150 miles. If it covers the
first half of the journey in 105 minutes and the second half
in 75 minutes, what is is aversge speed for the journey?

.13. Print the letter in the word "suspiciocus" that is as far
from the beginning as P iz from the end.

14,. What pusber comes next in the following series
3, 5, 10, 12, 24

15. Tall is to short as arrest is to
{a) release (b) rest (c¢) hold (d) stop (e) relieve (£) imprison

16, Abste means the same as
(a) about (b) relieve (c) die down (d) increase (e) leave

17; How many cubic feet of water will fill a tank 5 ft. by 10 ft.
by 123 ft.

18. Print the third letter before the tenth letter after
E in the alphabet .

19. Rake is to take as raid is to
(a) terd (b) tird (c) tord (d) taid (e) tide

SUPIC IR b e mm——— PRI

e P
20, Qvert means the sams as
?Z? unconcealed (b) hidden (c) lost (d) traced (e) missing

21, J’anuary is to June as May is to
what number comes next im the following series

2.2'v33 8, 2, 13



i
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23,

25.

26.

35

'36 .

37.

39.
40.

L.

42.

~ be before they meet?

4

A boy cozers 1/3 of his Journ_ey'on foot; he rides a street
car for g of his journey and then covers the final 4 miles
of his journey on foot again. How long was his journey?

Quota means the same as _
(a) give (b) hold (c) part (d) receive (o) allowance

If the alphabettstaz;ted at I instead of A, what would
then be the ninth letter? : :

Indicate the word that does not belong
(a) sponge (b) soap (c) bathroom (d) towel (e) nailbrush
(£) facecloth

Obscured means the same as
(a) lost (b) hidden (c) fourd (d) traced (e) left

If the fourth day before yesterday was Monday what day
will it be tomorrow?

What letter comes just as far after G in the alphabet
as L comes after N in the word "sincerely”

Tall is to short as giant is to
(a) elf (b) dwerf (=) monster (d) fairy (e) goblin

Ermerge means the same as
(a) issue (b) depart (c) leave (d) vacate (e) run

What nunber comes next in the following serises

/48, 1724, 1/12

A boy left home at 25 minutes past one o‘clock, walking
at 6 miles per hour. If he arrived at his destination
et 15 minutes past two o'clock, what distance had he
covered? A

Boat is to ses as snake is
(a) skin (b) ground (c) reptile (d) enimal (e) snail

If the alrhabet were reversed which let ter would occupy
the position that P does now?

Turbulent means the same &s
(a) heavy (b) soft (c) disturbed (d) eager (e) vain

It 60 M.P.H. is equivalent to 88 feet per second, how fast
must a car be travelling to cover 912 feet in six seconds?

Link is to lank as file is to
(a) fold (b) fele (c) fule (d) fale (e) feld

Frint thé letter in the word "untenable". That is as far
from the end as "B" is from the beginning

Pulverize means the samne as _
(a) erush (b) hit (c) beat (d) slap (e) push

Indic ate the word that does not belorg /
(a)~paper-{b)-sheet-(c) ball (d) boerd (e) card (f) envelope

If two cars twelve miles apart are travelling towards one
another at 65 and 25 M.P.H, respectively, how long will it



43.

bl

45
46.
47.
48.
49
50.

oL

529

5k
55.

56.
57

58.

59
60.

6.
62.

63,

64.

65.

Simrer means the same as ‘
(a) temper (b) amger (c) rege (d) smirk (e) scowl

Print the fourth letter before the seventh letter after
F in the alphabet

"Defame means ,t.he .same’ as"

(a) behead (b) slander (c) cut (a) rip'(e) thread

May is to December as December is to

A msn makes t.hree”,purchases which emount to $2.64. If the
sum of the first and third purchases is half that of the

second one, what is the eamount of the second purchase.

If the alphabet started at D instead or A what would then
be the thirteezxth letter ‘

Indicate the word that does mot belé_ng '
(e)'re'd (b) yellow (c) soft (d)‘blue'(e_) indigo (1’) black

Meal is to male as tear is to
(a) bore (b) reab (c) rabe (d) bare (e) boar

Tell is to short as work is o
{(a) hard (b) Job (c) employer (d) easy (e) idleness
) pleasure

If 811 the letteré ‘in the word "Great" were removed from

" the alphabet; what would then become the nineteenth letter?

Indicate the word that does not belong
(a) false (b) hotel (c) girl (d) bus (e) clock (f) rat

What is the number three fifths of which is 277

Fotency mesns the same &8s
(a) weakness (b) disease (¢) illness (d) stremgth (e) touch

One-fifth is to onAeeelevenm as 77 ig to

In a certain code LBSNLUJF me ans "Fulgency . Use this code
to write Lung '

What letter comes just as far after F in the alphabet as
F comes after T in the word "Intensify™

One-ﬁrth is to one-geventh as 35 ia to

In a eertain code KLWPSHAL meens "Depilate®. Use this code
to write “Tide" '

Indicate the word that does not beiong
(a) trace (v) race (c) rough’ (d) reason (e) run (r) ride

ﬁhat number, when multiplied by 1tselr, is 4 less thar one
firtb of 145

Indicate.the word. that does - pot: belong,-wr e e e e R
(a) day (b) dish (c) ‘duck (d) luck (e) down (r) dirt

One-halr is to one-—ninth as 27 is to

#hat mumber cames next in the follo.ving series
7, 49, 8, 64, 9 B



66 Indicate the word that does mot belong

(a) ace (b) deuce (c) primce (d) king (e) Jack (f) Queen

67. Ina certain code LUNYHCL me ang "Engrave" ‘Use this
~ code to write Near - '

é8. ‘hat mumber comes next ir the follcwing series
1/3, 2/5, 4/7, /9 ‘

,69“ If every sixth 1ettel: namely, F; L etéo, were left out. of

the alphabet which letter would then become the
twelfth ore? :

70. Indicate .the group that does not belong
(a) ACD (b) RTU (c) NEQ.(d) EHI (e) LNO. (f) DFG

71, Ir the first of Jamuary is a _Tuesday what day must ‘the
last day of the moath be'? ‘

72. What number comes ‘next in the following series

9, 1/3, 25,1/5, 49

73. If today is the twelfth of the month amd a Thursday
' what day was the first of the moath?

74 A ple is cut so that oxe piece, which is one quarter
.of the pie, is twice as large as each of the other
'pieces.' Into how many pieces is the ple cut?

75. 1Imdicate the group that does not belomg
(a) 21 (b) 35 (c) 63 (4) 43 (e) 14 (£) 56,

IF YOU HAVE ANY TIME LEFT GO BACK AND CHECK YOUR ANSWERS
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ad the following carefully:

1.
?ﬂ 2e
Se

4,
S,

6o

This is a short test to find out how quickly and accurately you ean answer
a ssries of simple questions.

Some of the questicns ares easy. Others are hard. No one 1s expected to do

everything, but do the bsst you can. o

If you cannot do any questicn, leave it out and go on to the next, Return
to it later if you have any time left.

When you finish one page go on to the next,
You may do any rough wwrk or figuring at the sidss of the pages if ycu wish.

The answers are to be writter in the brackets at the right of the questions..

Here are some practice questions to show what you are expscted to dos

|
]
!

1.

What number comes next in the followlng ssries ?
2, 4, 6, 8, 10 . } { 12 )
The numbers incresse 2 ab a tinms, therefors the number after 10 will

~ be 12, and this number has basen writtsn in the brackets at the right,.

2

3e

4.

Which word doss not belong in this 1list? _
(a) green (b) violet {c) red {d) swset (e) yellow (£) black {4a)
These are all colcurs except swset, so d is written in the brackets,

Bird is to air as fish is o :
(2) water (b) swdm (c) bait {(d) net (s) catch {al)
The answer is a, so this letter is written in the brackets.

ABCDEFGHITKIMNOPQRSTUVWXYZ
Print the letter befors the sixth lebter frem the baginning of ths (=)
alphabat,

. The sixth letter from the bsgluning of o alphabet iz F, and the

10,

the letter before it is E, 0 E has bsen wrliten in the braekotae

last Tuesday was April 19th. I nexd Taor=day 1s thrae days away,
what day of the month is today? { 25 )
Today must be Monday, April 25%h, so 25 has been written in the hrackets,.

‘ahesd and try the following gquestinns:

What rumber comes next in the folicwine series 7

1, 10, 2, 20, 3, 30 ( )
which word does not bslong in ¢hiz 1ist ? .

(a) wood (b) iren (c) coppsr (&) lead {2) tin (£) aluminum ( )
Snow is to winter as rain is to »

(a) water (b) umbrella (¢) cloud (&) showsr (8) summer ( )
Ons third of one halfl is ? ( )

A car is travelling at €0 mepoho. How long will it take &0 cover
240 miles ? : ( )

The queséions you have just done wers practics questions,
The questions in this test rmust be answersd in the same way
You will be given 35 ninutes to do this test.

Ask no questions at all during the test.

DO NOT TURN OVER THIS PAGE UNTIL YOU ARI TOLD TO DO SO



16,
17.
18.
19.

20.

—(£) air

&

Tell is to short as even is to ’
(a) equal (b) more (c) (less (d) odd (e) urequal

Indic ate the word <that: does not belong
(a) prope;lor (b) engine’ (c) wing (d) ruselage (e) tail

Boat is to sea as butterrly is: to
(a) water (b) cocoon (c) air (d) tree (e) shrub

Elude mears the. same as '

(a) pursue (b) escape (c) chase (d) fetch (e) walk
K

What mumber comes next in« the folloning series

9, 11, 10, 12 B

A boy left home at 25 minutes past t.wo o'clock, walking
at 4 miles per hour. "If he arrived at his destination
8% 40 minutes paat mree o clock what distance had he
covered'>

IT the alphabes were reversed which let ter would occupy
the position tbat Q, doea now‘? o

Turmoil means the same as
{a) rush (b) leave (c}‘ ome . ld) agifzation (e) hope

Easy is to simple as 'letter is to '
(a) writing (D) drawikg (c) epistle (d) picture (e) sketch

What number comes next in the i‘ollowing series

%, 2/3, %

If 60 M.P.H. is equivalent to 88 feet per second, how fast
must a car be travellijg to cover 264 feet. in four seconds'>

Print the letter in the word "Electrifying" ‘that is as
far from the end as "Y" 1s rmm the beginnng

Squalid means the same as. . o
(a) dirty (b) clean (c) healthy (d) sick: (e) ill

Merch is to September as August is to
A man makes three purchases which amoum: to $3.21. If the’

sum of the first and third purchases is half that of the
second one, what 15 ’che amount or the s:econd purchase'>

1f the alphabet startq "'f;at D i‘”tead ¥

» A, what would
then be the tenth letter: ' ‘

Tall is to short as eeble 15 to

(a) simple (b) honest"(c) unhappy (d){“st.mng (e) nice (f) wesk .

If all the letters. in‘ word. Stain” were removed from the
al phabet, what would then become the aeventeenth letter?

Indicate the word that does not bolong
(a) cost (Db) silly (0) ng (d} photogmph (e) dress (f) fox

Portent means the same ag. . o
(a) view (b) look (c) Bign (d) wateh (e) leave

Print the fifth letter before the eighth letter after B in
tha alphabet. o v



22,

23.

250

26.

27o

30.

31,

329

33.

3h.

35.

36,

37

38.

39.

400

41,

What letter comes just as far after T in the alphabet as
1 comes after T in the word "Synthesis "

Indicate the word that does not belong

(a) full (b) flame (c) blame (d) fash ion (e) find (f) four

(.JwGU,latG means the same as
{a) touch (b) push (c) kiss (d) pull {e) kick

What number cones next in the following series
5, 6, 10, 11, 15 :

What letter comes just as far after R in t he alphabet
a8 Y comes after B im the word "possibility"

Indicate the word that does not belorg
(a) save (b) sin (c) sourd (d) sack (e) sad (f) bad

Engine is to car as room is to
(a) window (b) floor (c) house (d) road (e) shape

Indicate the word that does not belong
(a) wheel (b) sasucer (c) cent (d) postcard (e) moon.(f) disc

Tall is to short as gient is to
(‘a‘) elf {(b) dwarf (c) monster (d) feiry (e) goblin

Faction is the same as
(a) whole (b) same (c) party (d) all (e) none

What number comes next in the following series

1/3, 2/9, 3/27

If every fifth letter; namely E, J, etc., weres left out of
the alphabet, which lstter wculd then become the twelfth

. Ona?

Link is to lank as dile is to
(a) dele (b) dale (c) dule (d) dold (e) duck

If the althabet were reversed which lstter would occupy
the positiom that H does now?

Stationary means the same as
(a) paper (b) writing (c¢) pad (d) book (e) still

wbat number comes next in the following series
8, 9, 12, 13

A car is travelling a distamce of 180 miles. If it covers
the first half of the jouraey im 1.0 minmutes ard thes second
half in 100 minutes, what is its averasge speed for the
journey?

Print the letter in the word ”Sagacious" that is as far
from the beginning as G is from the end

Pulverize means the same &s
(a) crush (b) hit (¢) beat (d) slap (e) push

Reke is to take as roll is to
(a) tale (b) toll (c) tell (d) tall (e) talk

What number comes next in the following series
2! 2/“" 3’ 3/9) 4



43. May is to December as October is to

44o What number comes next im the following series
6, 11, 8, 7, 10 , - C .

45. A boy covers 1/6 of his jourmey oR foot; he rides a "
streetcar for £ of his journey ami them covers the final
1% miles of his journey on foot again. How long was his
jouraey?

L6. If the alphat}et starﬁed’atﬁ, ina’qead;of A, what,,would jthen
be the seventh letter

47. Indicate the word that does not belong
(a) bridge (b) poker (c) rummy (d) checkers (e) pontoon
(f) chemin-de-fer ¥ :

/8. DParieh msans the same as
(a) tame (b} tiger (c) liom (d) outcast (e) wild

49. April is to August as December is to

50. Meal is to Male as Bear is to
(a) bore (b) reab (c) rebe (d) bare (e) boar

51 . What aomber comes next inm the followinmg series
5, 10, 15, 12, 17, 22 '

52. If two cars fifteem miles apart are travelling towards
one amther at 80 amd 70 M.P.H. respectively, how long will
it be before they meet?

53, If all the letters im the word "Simce" were removed from the
elphabet, what would then become the fifteenth letter

54. Isdicate the word that does not belong
(a) fear (b) amger (c) jealousy (d) beauty (e) hate (£) envy

55, Tall is to short as advance is to
(a) soldiers (b) adventage (¢) entramce (d) retire (a) comtrive
() abandonr '

56, Blemish means the same as
(a) colour (b) ten ’(c) spot (d) shade (e) clear

57. How many cubic feet of water will fill a tank 4% ft. by
8 £ft. by 10 ft.

58, Print the fourth letter before the eighth letter after
I ia the alphabet

59. Indicate the word that does not belorg
(a) baseball (b) golf (c) billiards (d) football (e) hockey
(f) tennis

60. Imn a certain code KLWPSHAL means "Depilate?. Use this code
to write "Tide™

61, Odious means the same as
(a) loud (b) distant (c) near (d) distasteful (e) soft

62. If today was the twelfth of the month and a Momday what day
was the first of the month :

63. Onme seventh is to ome-teath as 40 is to



69.
700

710
72.

73.

T4

75.

If today is the twelfth of the month and a Friday what day .
was the first of the moath

Irn a certaizn code OAZHQ,DSQ, neans "Gonverge" Use this code
to writo Green : ; ,. -

¥ihat aumber, when multiplied by itself is 13 less than
oxa-aixth or 132

One=-fourth is to ome-seventh as 42 is to

Coagulet e means the sare as
(a) clot (b) stop (c) stick (d) touch (e) run

What is the number two elevenths of which is 18

Indicate the group that does mot belong
(a) ACD (b) RTU (c) NPQ (d) EHI (e) LNO (f) DFG

One-fourth is to one-thirteenth as 52 is to

Ir a certain code OA}OKMBEQ means “"Collapse". Use this code
to write Slop

Indicate the group that does mot belorg
(a) 12 (b) 30 (c) 33 (d) 42 (e) 54 (£) 18

.A pie is cut so thet one piece, which is ome-sixth of

the ple, is twice as large as each of the other pieces.
Into how many pieces is the pie cut?

If today is Thursday and there are tea more days to
go in the month what will the last day of the morth be?

IF YOU HAVE ANY TIME LEFT GO BACK AND CHECK YOUR ANSWERS



FORM 6

CANADIAN ARNY CLASSIFICATION TEST

FILL IN THE FOLLOWING PARTICULARS WHEN YOU ARE TOLD

Your first neane

Your last mame

Formal achooling

Centre

Date

Age iR years

DO‘ NOT OPEN THIS BOOKIET UNTIL YOU ARE TOLD TO DO SO

- -



ead the following carefully:

1.
2
3e

4,
Se

€.

This is a short test %o find out how quickly and accuratsly ycu can answer
a geries of simple qussiions.

Some of the questicns are easy., Others are hard, No one 1s expecisd to do
everything, but do the bast you can, '

If you cannct do any questicn, leave it out and go on to the next. Rsturn
%0 It later if you have any %ims lsfi.

Whsn yeu finish one page go on to the next,
You way do any rough wmrk or figuring at the sides of the pages if you wish.

The answers are to be written in the brackets at the right of the questions.

lere ars some practice qusstions to show what you are expscted to do:

1.

What number comes nmext in the following ssries ?
2, 4, 6, 2, 10 ' {12
The numbers incrsase 2 at a time, thsrsfors the number after 10 will

- be 12, and this number has been written in the brackete at the right,

2.
3e

4.

Se
low g0
6.
7.

8.

g

10,

Whieh word doss not belong in this 1ist?
(a) grsen (b) violet (¢) red (d) swset (&) yellow (£) black { a)
These ars all colcurs except swoet, so 4 is written in the brackets,

Bird is to air es fish is to
(a) water (b) swinm (e) bait (d) net (s) cateh {(a)
The answer i3 a, so this lefter is written in the bracksts,

ABCDEFGHIJKIMNOPQRSTUVWXYZ
Print the letter befors the sixtl letier from the baginning of the ( E )
alphabst, - ’

The sixth lstter from the beginning of
the lettsr before it is E, =z E has be

tus alphabet is F, and the
en writion in $he braelmiie

Last Tuesday was April 19th, If next Thurzday le thrae days wway,
what day of the month is tcday? ( 25 )
Today must be Monday, April 25%th, so 25 has been written in the brackets,
ahsad and try the following questions:

What rumber comes next in the followire ssries ?

1, 10, 2, 26, 3, 30 ()
Which word does not belong in this 1ist ?

(;) wood (b) iren (c) copper (&) lead (o) tin (£) aluminum ( )
Snow is to winter as rain is to

(a) water (b) umbrella (c) ecloud (4) showsr (&) summer ( )
One third of one half is ? ( )

A car is travelling at 60 MePohoo How long will it take to cover ‘
240 miles ? - L S

The questions you have just done were practice questionas,
The questions in this test must be answered in the same way
You will be given 35 minutes to do this test.

Ask no questions at all during the teste.

DO NOT TURN OVER THIS PAGE UNTIL YOU ARE TOLD TO DO SO

P



.10,
11.

12,

13 °
14.

15,

17,

18,

19.

0.

2”Ll.

Easy is to simple as large is to
() sinall (b) little (c) big (4) medium (e) timy

Eliminate means the same as

(a) leave (b) remove (c) touch (d) hold (e) push
Iadicate the word t.hat does not belong

‘a) Chinese (b) English (c) French (d) German (e) dialect
(f) spanish

What number comes next in the: follcming series
2, 4, 8, 16

Eagimne is to car as heart is to
(a) man (b) body (c) brain (d) eye (e) vein

Exclude is the same as
(a) gather (b) hold (c) omit (d) motice (e) leave

What number comes next in the following series
8, 4, 2, 1, & ,

If every fifth letter, mamely E, .T,‘ etc., were left out of

~the alphabet, which letter would :them become the eighth one

Tall is to short as ugly is to
(a) beautifil (b) hideous (c) plain (d) gracious (e) vain

If the alphabet were reverssd which letter would occupy
the positior that I does now

Scora mesns the same &as
(a) anger (b) pity (c) love (d) contempt (e) ire

A car is travelling a distance of 160 miles. If it covers
the first half of the journey in 130 minutes and the second
half in 110 minutes, what is its average speed for the journey?

Print the letter in the word "Surroundi ng®. That"ié as far
from the beginning as 0 is from the end

Nefarious means the same &s
(a) wicked (b) various (c) spuxious (d) good (e) long

March is to Septembgr _as Jure is to

..at number comes next in the rollowing series
l 1/3, 1/9, 4, 4/3 S

A boy covers 1/5 of his journey on foot; he rides a
streetcar for 2/3 of his joumey &aad then covers the final
2 miles of his joumey on foot agamo How long was his journey?

If the alphabet started &t M instead of A, what would then be the

ninth letter

Impromptu means the same as
(aI; exgedient (b) speech (c) prompted (d) tardy (e) extempore _

féb"fuary is to June “as oqtober is to

What number comes next in the folloning series
8, 11, 16, 9, 12 .



25,

265

29.

30.
31.

32,

33

34

35
- 36.
37.
38.
39.
‘“40.

Llo

If two cars ten miles apart are travslling towards one another

at 10 snd 30 M,P.H. respectively, how long will it be before
they meet?

If all the letters in the word “Power" were removed from the
alphabet, what would then become the fifteenth letter?

Tanlcate the word that does nbt ‘belong S :
{(a; coat (b) hat (c) suit (d) shirt (e) umbrella (f) sock

Tall is to short as extend is to .

{(a) tend (b) descend (c) pull (d) extract (e) “contract
(f) exrand

Biés meens the same as
(a) steep (b) slent (c) high (d) low (e) medium

How many cubic feet of water will £ill a tank 6 ft. by
95 ft. by 11 ft. ~ .

-Print the tenth letter before the sixth letter after q in

the alphabet '

Indicate the word that does not belong
(a) psychology (b) sociology (c) physics (d) sculpture
(e) mathematics (f) chemistry

Tall is to short as glant is W
(a) elf (b) dwarf (c) monster (d) fairy (e) godblin

Onus means the sams as
(a) only (b) single (c) alone (d4) burden (c) simple

Boat is to sea a3 fish is to »
(&) bowl (b) water (c) sir (d) fin (e) animal-

A boy left home at L5 minutes past one oclock, walking at
3 miles per hour. If he arrived at his destinstion

at 15 minutes past three o’clock, what distance had he
covered?

Tall is to short as genuine ig to
(a) rough (b) ingenious (¢) week (d) foreign (e) fg;se
{f) dismal

&raculate means the same as
{~! speak (b) say (e) talk (d} ponder (e) state

If the alphabet wers reversed which let ter would occupy
the position that R does now

Twirl means the same as | |
(a) span (b) spin (c) spun (d) sponge (e) speed

Whet number comes next in the following series’
12, 14, 18, 14, 16

It 60 M.P.H. is equivalent to 88 feet per second, how fast

' ling to cover 396 feet in three seconds .

must a car P??:,a}'?}

- N e T o —
et e S 7

ulverize means We same as
1:&) crush (b) hit (c) beat (d) slap (e) push

Print the letter in the word "Discrimination” that is as far
from the end &8 "A" is from the beginning



42, Indicate the word that does not balong
(a) star (b) planet (c) lemp (d)»su’n (e) moon (f) comet

43. Squeamish means ths same ,ég,
(a) rough (b) rude (c) brutal (d) fastidious (e) polite

4ho April is to August es October is to

45. A man makes three purchases vhich amount to $2.70. If the
sum of the first and third purchases is half that of the
second one, what is the amount of the second purchase?

46. If the elphabet started et H instead of A, what would then
be the twelfth letter

47. Indicate the word thst does not belong
(a) ant (b) wasp (c) spake (d) bee (e) fly (f) mosquito

48, Nalve means the seame as
(a) sophisticated (b) neked (c¢) simple (d) villainous
(e) difficult

49. If all the lestters in the word "Proud" were removed from the
alphabet, wheat would then become the sixteenth letter

50. Mesl is to male as Bsar is to
' (<} bore (b) read (c) rebe (d) bare (e) boar

51. Indicate the word thet does not belong
(a) chair (b) plen (c) car (d) submerine (e) hard (f) lamp

52. Print tke fourth listter befors the ninth letter after
L in ths alphabet '

53. What letter comes just as far after H in the alphabet as
V comes after N in the word "Endeavour"

54, What is the number three sevenths of which is 39

55, Indicate the word that doss mot belong
(a) grace (b) rece (c) ground (&) brief (e) gain () get

56, 1If the day after tomorrow is Yhursday then the day before
yesterday was

57. at number comes next im the following series
75 8’ 8) 9’ 99 lo

58, Qne-third is to ons-teath as 50 is to

59. What number comes next in the follcwing series
3, 2/3, 5, 3/5, 7

60. In a certain code KLWPSHAL means "Depilate"”. Use this code
' to write "Tide"

61, What letter comes just as far after L in the alphabet
' as M cames after F in the word rrefreshment "

62T R“k“is"ﬁ?) take as Rind is to
(:)etind (b) tond (c) tawd (d) tend (e) tire

In s certain code LYWFUCG means "Reclaim”. Use this code

63,
to write Realm

+ pumber comes next in the following series

° &' 9
64 2£ b4y by 16, 5



650
66 .

67.
68.

69

70.
71,
72.
73.

Th.

5.

%gslkbi t?b}aglflgs(gﬁlga e ?%) bold {e) bear

If the first of Jenuazy is a Wednesday what day must the
last dey of the month be . '

What number, when multiplied by itselr, is 6 less than
one seventh of 154 : S

Indicate the word. that does not belong
(a) tough (b) tack (c) touch {d) test (e) best (r) teke

One-sixth is to one-thirteenth[as'biis to.

Indicate the group tkat does not 'belong
(a) ACD (b) RTU (c) NPQ (d) EHI (e) LNO (f) DFG

In a certain code VLYUXNB msans "Breadth". Use this code
to write Hear :

If the first of January is a Saturday whst dey must the last
day of the month be

One-third is to one-~-fifth as 20 is to

A ple is cut so that one piece, which is one-seventh of the
pie, is twice as large as each of the other pieces.
Into how rany pieces is the pie cut?

indicate the group thst does not belong
(a) 51 (b) 35 (c) 15 () 30 (e) 65 (£) 40.

IF YOU HAVE ANY TIME IEFT GO BACK AND CHECK YQUR ANSWF.!RS
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ead the following carefully:

1.

- 2
Se
4,
S,

6o

This is a short test to f£ind out how quickly and accuratsly you can answer
a series of simple questionse.

Seme of the questicns are easy. Others are hard. No ons is expected to do,
everytiing, but do the bsst you can,

If you cannot do any questicn, leave i{ out and go on to the next, Return
to it later if you have any time left.

When you finish one pagse go on to the nsxt,
You may do any rough work or figuring at the sidss of the pagss if ycu wish,.

The answars are %o be written in the brackets alb the right of the questicns,.

Here ars some practice qusstions to show what you are expscted fo do:

1.

What number comes next in ths following series ?
2, 4, 6, 8, 10 {12)
The numbers increase 2 at a tims, therefors the number after 10 will

- be 12, and this numbter has been written in the brackete at the right.

2

3e

4,

Now go.

6.

7e

8.

10.

Which word doss not belong in this 1ist? A
(a) grsen (b) violet (c) red (d) sweet (e) yellow (£) black {4)
These ars all colcurs except sweet, so d isg writtsn in the brackets,

Bird is to air as fish ig to ;
(a) water (b) swim (e) bait (d) net (8) cateh { a)

The answer is a, so this latter is written in the brackets.

ABCDEFGHIJKIMNOPQRSTU VWKYZ

Print the letter befors the sixth letter from the beginning of the ( E )
alphabst, '

The sixth letter from the bsgluning of %9 alphabst is F, and the

the letter before it is E, zo B has bsen wrlilten in $hs bhraciwte.

Lagt Tuesday’was April 19th, If next Thursday s thrse days wway,

what day of the month is toduy? { 25 )
Today must be Monday, April 25%h, so 25 has been written in the brackets.
ehead and try the following questions:

What prumber comes next in the follcwine ssriles ?

1, 10, 2, 20, 3, 30 ()
Which word does not balong in thig 1list ?

(a) wood (b) iren (c) copper (&) lsad {3) tin (£) aluminum ( )
Snow is to winter as rain is to

(a) water (b) umbrella (c) cloud (@) shower (e) summer { )
One third of one half is ? R ( )

A car is travelling at 60 m.poho. How long will it take to cover
240 miles 7 : . { )

The questions you have just done were practice questions.
The questions in this test must be answered in the same way
You will be given 35 minutes to do this test.

Ask no questions at all during the test.

DO NOT TURN OVER THIS PAGE UNTIL YOU ARE TOLD TO DO SC



1.

8,

10.
11.
12.
13.
14.
15.
16.

17.
18.
19.

20'

21,

22.

~Tell is to short as detain is to ~

Tall is to short as hlgh is to
(a) low (b) small (c) depth (d) little (e) wide

Condone means the same as
(a) refuse (b) leave (c) allow (d) give (e) love

release (b) invent (c) retain (d) date (e) contain
esteem ‘

Tal
(el
()
lndicate the word thet does not belong

(a) donkey (b) cow (c) horse (d) cat (e) snake (f) mouse

Hawser means the same as
(a) ladder (b) rope (c) string (d) bench (e) seat

Arril is to August as Auvgust is to

Print the letter in the wrd "Omnipotent”". That is as far
from the beginning as 1 is from the end

Mobile mesns the same as
(a) mainly (b) movable (c) moral (d) must (e) more

-1f the alphabet were reversed which letter would occupy the
position that J does now

What letter comes just as far after 6 in the alphabet as
N comes after M in the word "Accomodation®

How many cubic feest of water will fill a tank § ft. by 8 ft.
by 125 ft.

What number comes next in the following series
1, 2,1, 3, 1

If 60 N.P.H. 13 equivalent to 88 feect per second; how fast
must a car be travelling to cover 440 feet in four seconds

If the alikabet started at H inatead of A, what would then be
the fourteenth letter

Qnerous meeans the same as
(a) light (b) soft (c) heavy (d) sharp (e) dark

¥hat number‘comes next in the following series
¢, 10, 8, 8, 10

i

I all the letters in the word "Solid" were removed from the
alphabet, what wculd then become the fifteenth letter

Reke is to take as real is to
(a) tale (b) talk (c) tide (d) teal (o) tael

Allege means the same as '
(a) spesk {b) word (c) touch (d) imply (e) run

1f today is Friday what was the seventh day bsfore tomorrow

Attain means the same as
(a) coms (b) go (c) leave (d) resech (e) run

What pumber comes next in the following series
3, 9, 4y 16,5



23. A car is travelling a distance of 150 miles. If it covers
the first half of the journey in 170 minutes and the second

half in 130 minutes, what is 1ts average. speed for the
journey? : _

24. If the alphabet started at L instead of A, what would then

" he the eighth letter - i Bttt

25. Easy is to simples as rage is t.o 1 ..
(e} emotion (b) hate {e¢) love d) anger (e) polite

26. A man makes three purch.ases'whlch ampunt:to $1.56, If the
sum of the first and third purchases is half that of the
second one, whet is the amount of the second purchase?

27. ZElement means the same e&s
(&) part {b) whole (c) entirety (d) none (e) total

23. What number comes next in the fbllowing series
6, 16, 14, 12, 20

X . Upbraid means the same as
(a) braid (b) state (c) ask {(d) chide (e) tell

30. Tall is to short as glant is to0
(a) elf (h) dwarf (c) monster (d) fairy (e) goblin

31. February is to June as August is to .

32. What letter comes just as far after C in the alphabet as
L comes after D in the word "In Describable”

33. If the alphsbet were-reversed which letter would occupy
the position that S doss now

34. Status means the same as '
(a) country (b) province (c) position (d) leave (e) continent

35, What number comes next in the following series
15, 2, 20, 4, 25 ' C

36. A boy left home at 50 minutes past two o?clock, walking at
6 miles per hour. If he arrived at his destination
at 10 minutes past four ofclock, whet distance khad he covered?

37, Print the letter in the word "Indifferent“ that is as far
from the end as "R” is from the j_beg'igx_‘_ligg’_

38. Boat is to sea as trein is to '
(a) track (b) station (c) signal (d) coach (e) bus

9. Engine is to car as bore is t.o N :
(a) bare (b) rifle c) bullet (d) gunpowder (e) exploslve

40. Pulverizo mesans the same as
(a) crush (b) hit (c) beat (4) slap. (e) push

1. Indicate the word that does mot belong
b (a) sardine (b) salmon (c) whale (d) shark (e) trout () halibut

42. If the day after tomorrow is Monday,thon the day befors yesterday
was . ‘

43. What number comes next in t he rollowing series
1.15, 1.50, 1. 85 ~



4. A boy covers % of Ris journey on foot; he rides a streetcer
for 3/5 of his journey and then covers the final 3 miles
of his journey on foot again. How long was his journey?

45.. Aroma moans the same as
-—-(a)-acid- (b) sour‘(c) cdour;(d) rancid (e) oilym\_..

46, Ir all the letters in the word "‘l'rump were removed from the
" alphabet, what would then become the nineteenth letter

47. ' Indicate the word that does mot belong .
(a) urge (b) under (c) urn (d) turn (e) use (f) utilize

48. Tell is to short as umeven is to

(a) evening (b) regular (c¢) endless (d) ordinary (e) important
{(f) never

49. Despoil is the same as
(a) push (b) plunder (c) steel (d) touch (e) hold

5C. Meal ‘is to mele as bear is to :
(a) bore (b) reab (c) rabe (d) bare (e) boar

51. What number comes next in the following series
6; léy ZH 15’ 2

52. J.ink is to lank as pile is to
{(a) pale (b) pole (¢) pule (d) paid (e) pant

53. Indicate the word that does not belong
(a) leir (b) hair (c) here (d)_npwf(e)_have (;) nold

54. If two cars five miles apart are travelling towards
- one another at 25 and 35 M.P.H. respectively, how long will
it be befo re they meet? C

55. Print the fifth letter before the seventh letter after
' -G in the alphabet

56. Indicate the word that does not belong
‘ (a) rain (b) fog (c) wind (d) 'hail (e) ‘snow (£) mist

57. Indicate the word that does mot belong
(a) vay (b) inlet (c) delta (d) tributary (e) mouth (f) cove

58. One-half is to one-fifth as 30 is to

59, Indicate the word that does not belong
(a) ‘rug (b) book (e¢) warm (d) picture (e) bulb (f) tray

60. 1In a certain code KLWPSHAL means "Depilate”. Use ‘this code
to write "Tide" ‘ '

61, Print the seventh letter before the third letter after S in
"~ the alphabet

62. wWhat is the number two thirteenths of which is 12

63. Indicate the word that does not belong .
? (a) sour (b) bright (c) bitter (d) acid (e) sweet (f) sharp

64. 1If every fourth letter, namely D, H, etc, were left out of the
) alphabet, which letter would then become the thirteenth one?

65. One-fifth isto.one-eighth as 48 is tp



66. June is to November as May is to

67. What number comes next in the following series

3%5%,

68...In a.certain- code LZAPCHS means."Estivalt!.wUse*this codem -
'\\ to write I.tte

69. If today is Saturday and there are ten more days to go
o in the month what will tshe last day of the month be

70. Indicate the gmup that does not belong
(a) ACD (b) .RlU, (c) NPQ (d) EHI (e) LNO (f) DFG

71. In a certain code KPYIMBS means "Direful". Use this code
to write Lure

72. What number, when multiplied by itself, is 6 less than
one-third of 126

73. One-~half is to one-eleventh as 33 is to

74. A ple is cut so that one piece, which is one-eighth of the pie,
is twice as large as each of the other pileces. Into how
meny pieces is the ple cut?

75. Indicate the group that does not belong
(a) 16 (b) 44 (c) 52 (d) 62 (e) 36 (£) 12

IF YOU HAVE ANY TIME LEFT GO BACK AND CHECK YQUR ANSWERS

[
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Read the following carafully:

1. Thais is a short test to £ind ocut how quickly and accuratsly you can answer
a ssries of simple gquestinnge

2 Scme of tho questicns ars easy., Others ars hard. No ons is expseled to do
everytiing, but do ths bsst you cane

3¢ If you cannot do any guesticn, leawe 1% out ard gb on to the nsxt, Return
to it later if you have any %ims l1loft.

4, VWhsn you Pinish one pags go on to the next,
5. You may do any rcugh wwrk or Tizuring at the sides of the pages if you wish,

6. The answers are to b written in the brackets at the right of the questions.

Here are some practics questions o show what you are sxpscted to do:

1. What number comes next in the following seriss 2
2, 4, 6, 8, 10 ‘ {( 12 )
The numbers increase 2 at a time, thsrefors the number after 10 will
be 12, and this number has besn written in the brackste at the right,

2, Which word doss not belong in this 1list?
{a) graen (b) violet (e} rsd (2) swast (s) yellow (£) black { a)
These are all colcurs except swaeb, so 4 is writter iIn the brackets.

3e Bird is to air &g fish ig te
(2) water (b} swim (e) bait (d) nos (e) catch {al)
The answer i3 a, so thia lefter is wriSten in the brackets. :

4, ABCDEFGHIJKIMNOPQRSTUVWXYZ
Print the letter befors ths =ivtl lester from $he baginning of the ( B )
alphabst,
The sixth lotter from the begluning of tre alphobet 1s P, and the
the lotbor bofore 1% is E, o B bas bsen wrltlen in She birackebes

5, Last Tuesday was April 1969, I zext Taursduy i1s thraee daya wway,

what day of the monwvh is teday? ( 25 )
Today must be Mondsy, April 25th, so 25 has beon written dn the bracxets.

Now gn chesd and try the following quesbions:

6, What rumber comss nexbt in the followinge ssriles ¥

1, 10, 2, 20, 3, 30 ()
7. Which word dees not belong in thi: 1ist ?

(a) wood (b) ircn (e) coppsr (&) lcad (o) ¢in (£) aluminum { )
8, Snow is to winter as rain is to

(a) water (b} umbrella {c) clovd (@) showsr (@) sumer { )
%, Ono third of one half is ? ' ( )

10. A car is travelling at 60 MePohoo How long will it take to cover
240 miles % ( )

The questions you havs just done wara practics questions.
The questions in this test must be answsred in the sams way
You will be given 35 minutes to do this test.

Ask no cquestions at all during the teste

DO NOT TURN OVER THIS PAGE UNTIL YOU ARE TOILD TO DO SO



3.

"1l. Black is to white as long is t.o
(a) tall (b) short {c) wide (d) thick (e) BaITOW

2. Sumptuous means the same as
(a) dirty (b) high (c) long (d) easy (s) costly

3. June is to Navember as March is to

4o Indicate the word that does ‘not belong , '
(a) ball (b) wheel (c) moon (d) cloud (e) circle (f) sphere

¥ B

5. Verbose means t.he same as ‘
(a) wordy (b) lengthy (c) short (a) tired (e) easy

6. 1If the alphabet were reversed which let ter would oceupy
ths pos ition that T does now

7. Boat is to sea as aeroplane is to
(a) aerodrome (b) pilot (c) engine (d) air (e} land

8, Dwindle means the same as
(a) grow (b) vanish (¢) lose (d) shrink (e) leave

9. A boy left home at 5 minutes past three o'clock, walking at
5 miles per hour. If he arrived at his destinstion at .
17 minutes past four o clock what distence had he covered?

10. it 60 M,POH. is equivalent to 88 feet per secornd, how fast
msst ‘a car be travelling to cover 528 feet in three seconds?

11. Print the letter in the word "Mediocrity"” that is as fer
from the end as "C" is from the beginning

12. What number comes next in the following wer ies
4, 2/3, 5, %, 6

13. A man mekes three murcheses which emount to sz, 02, If the
sum of the first and third purchases is half that of the
second one, vhat is trxa amount of the second purchase?

14, If the alphabet started at G instead of A, what would then be
the tenth letter .

15, Indicate the word which does not belong
(a) 1ive (b) dead (c) 111 () sick (e) life (£) ailing

16. 1Indicate the word that does not belong
(a) region (b) srea (c) distence (d) locality (e) district

(£) surroundings

17. Bequeath means the same as
(a) run (b) leave (c) offer (4) wondmr (e) look

187 If all the letters in the word "Rough" were removed from the
alphabet, what would then become the sixteenth letter?

,19.; Indicate the word that does not belong '
(a) pen (b) orange (c) stove (4} chair (e) large (f) door

20.— Comprise means the same as”
: (a)pdetail (b) include (c) tell (d) say (01 SPeak ,

o1. Print the ninth letter before the fourth letter after N in
the alphabet

22, Tasy is to simple as difficult is to
{a) arduous (b) plain (c) plane (d) plan (e) plight


http://then.be

23.
2o
25,
2.

27.

30.
.

32.

35
36.
37.
39.
400
L2,

43.

b

Gratis means the same as
(a) free (b) expensive (c) cheap (d) annoy (e) touch

What number comes next in the foll_bwing series
9, 8,11, 10, 13 o

¥hat letter comes just as far after J inthe alpﬁabet
ax B comes after G in the word "Ingratitude”

‘

En,g‘e;_i"ne is to car as cable is-to
(a} mpe\ (b:) string (c¢) parcel (d4) elevator (e) weight -

Creed mesns the same &s , ‘ :
(a) belief (b) creek (c) idea (d) thought (e) statement

What number comes next in the following series
19, 13, 18, 15, 17

If every fourth letter, ramely D, H, etc, were ‘left out .
of the alphabet, which letter would.then become the ninth one?

Tall is to short as giant is to . .
(a) elf (b) dwarf (c) monster (d) fairy (e) goblin

'If the alphabet were reversed which letter would occupy

the rosition that K does now :

Link is to lank as hire is to
(a) have (b) hold (c) here (d) hare (e) hoar

Guile means .the same as .
(a) deceit (b) temper (c) esnnoy (d) trust (e) leave

What number comes next in the following series
3125, 625, 125

A car is travelling a distance of 160 miles. If it

‘covers the first half of the journey in 130 minutes and the

second half in 110 minutes, what is its average speed for the
journey?

Print the letter in the word "Obsolescence". That is as far
from the beginning as YL" is from the end

Rake is to take as rote is to
(a) tore (b) tate (c) tame (d) tote (e) tite

gratuity means the seme as
(a) free (b) tip (c) money (d) gold (e) silver

February is to June as June is to

Pulverize means the same as
(a) crush (b} hit (rc) beat (d) slap {(e) push

What number comeé pext in the following series
2, 8,3, 27, 4

A boy covers 1/3 of his journey on foot ; he rides a streetcar .
for & of his journey and then covers the final 2 miles

" of his journey on foot again. How long was his journey?

If the alphabet started at L instead of A, what would then
be the tenth letter? ‘

Indicate the word that does not belong
‘a) now (b) tomorrow (c) when (d) where (e) often (£) then



45.
46.

A

49
50.
51-

52.

She
55.
56.
57.

58.
59.

: ‘61 L]
62.

63.

61,.'

65 °
66.

67.

Indic ate the word that does not belong

January is‘ to June as August is to

If two cars seven miles apart are travelling towards cne
another at 45 and 15 M.P.H, respectively, how long will it
be before they meet?

Lf all the letters in the word "Match®™ were removed from the
alphabet, whet would then become the sixteenth letter

Tall is to short as inquisitive is to
(a) forgetful (b) eager (c) uninterested (d) knowledge
(s) anxious (f) queer

How many cubic feet of water will fill a tank 4 ft. by 9% ft.
by 12 ft.

Meal is to male as bear is to :
(a) bore (b) reab (c) rabe (d) bare (e) boer

Print the tenth letter before the fo urth letter after R in
the alphabet

Indicate the word that does not belozig

(a) dollar (b)f cent (c)- dime (d) money (e) nickel {f) quarter
Assail means the sane 88
(a) ask (b) move (c) attack (d) shape (e) sh)ve

Tall is to short as descend is to ’
(a) condescend (b) enter (c) extend (d) go (e) rise () wander A

If the fifth day before yesterday was Monday what day will
it be tomorrow

Pollute means the s ame as
(a) polite (b) dirty (c) rude (d) clean (e) hard

what letter comes just as far after N in the alphabet as
L comes after U in the word Insufferable

One-fourth is to one-ninth as 36 is to

(a) vain (b) velvet (c) vat (d) fat (e) vein (f) v'i.__»

In a certain code KLWPSHAL means "Depilate”. Use this code
to write 'Tide"

what number come s next in the following series
3/1, 9/2, 27/3

If today is Monday end there are ten more days to go in the
month what will the lest day of the month be?

What numbar, when multiplied by itself, is 5 less than
one quarter of 164

Indicate the word that does not. be long
(a) Keg (b) King (c) knes (d) knife (e) knock (£) lock

One-seventh is to one-eightb ‘as: 61, is to

In a certain code _QXAUEFQ,D means "_Gloistexj". Use this code
to write Riot ‘ SR

What number ccmes next in the fo]lcming series
7/9/ 5/11, 3/13 5



69.

70.

710
72.

73,

Vo

, One-seventh is to one-elev_enth as 55 is to

In a certain code KIMHBSA means "Default" - Use this code
to write "Tale" ' -

Indicate the group that does not belong
{a) ACD (b) RTU (c).b‘l?g_(d)“ml. (e) 1IN0 (f) DFG

o

What is the number four ninths of which is 24

If today was the twelfth of the mo‘hth_and a Wednesday
what day was the first of the month

What number comes next in the following series

9, 1/3. 16, 1/4, 25

A ple is cut so that one plece, which is one-ninth of the ple,
is twice as large.as each of the other pieces. Into how
meny pieces is the pie cut? :

Indicate the group that does not belong
(2)- 9 (b) 12 (e) 17 () 6 (e) 45 (£) 51.

IF YOU HAVE ANY TIME LEFT GO BACK AND CHECK YOUR ANSWERS
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o

tead the following carefully:

1.

2e

N

3e

4,
Se

6o

This is a short test to find cut how quickly and accurately yocu can answer
a series of simple questions. ~

Sore of the questions ars easy, Others are hard, No one is expected to do
everything, but do the basi you can. \ ' S

If you cannot do any questicn, leawve it out and go on tc the next., Return
to it later if ycu have any time lseft.

When you finish one page go on to the next,

You may do any rough work or figuring at the sidses of the pages if you wish.

.The answers are to be written in the brackets at the right of the questions,

Here ar2 some practice questions to show what you are expected to do:

1.

What numher comes next in the following series ? :
2, 4, 6, 8, 10 (1=)
The numbers increase 2 at a time, thersfors the number after 10 will

~ be 12, and this number has been writtsn in the brackets at the right,

2

3e

4,

Now go

6.
7
8.

Y.

10.

Which word does not belong in this list? .
(a) green (b) violet (c) red (d) sweet (e) yellow (£) black (4)
These are all colcurs except swset, so d is written in the brackets,

Bird is to alr as fish is to
(2) water (b) swim (c) bait (d) net (&) catech . ({a)
The answer is a, so this latter is written in the brackets.

ABCDEFGHIJKIMIIOPYRSTUWVIWKYZ

Print the letter berfors the sixth letter €rom the beginning of the ()
alphabst, ' '

The sixth letter from the bsginning of tos alphabst is F, and the

the letter before it is E, zo E has been wribiten in the brackete.

Lagt Tuesday was April 19ti, I2 nsab Tawrsday is three daya away,
what day of the month is today? ( 25 )
Today must be Monday, April 25&h, so 25 has been vritten in the trackets.

ahead and try the following questions:

What rumber comes next in the folleowine series ¥

1, 10, 2, 20, 3, 30 ( )
which word does not bsleng in this 1ist ?

(a) wood (b) iron (c) coppsr (&) lsad {3} tin (£) aluminum ( )
Snow is to winter as rain is to

(a) water (b) umbrella (c) cloud (d) shower (e) summer ( )
Onse third of one half is ? ( )

A car is travelling at 60 r.p.ho. How long will 1% take ©o cover
240 miles ? ( )

The questions you have just done wers rraciic
The questions in this test must be answerad in the

You will be given 35 minutes to do this test.

! Ask no questions at all during the test,

DO NOT TURN OVER THIS3 7GE UNTIL YOU ARQE TOTD TC DG 30



1, Black is to white as Hard is to A
(a) difficult (b) trying (c) soft (d) medium (e) smooth

2.

10.

11,

150
16.
17.
18.

19.
20.

21.

Indicate the word that does not belong

(a) table (b) chair V(c,)fc}:hesterﬂe.ld (a) ved (e) flooi'

(£) lamp

:at number comes next in the fbllowi:;g serios
23 12"'3’ 13, 4 e . )

If the day before ye sterdasy was Monday what day will it be

tomorrow

Engine is to car as lens is to

(a) glass (b) mirror (c) camera (d) f£ilm (e) movie

Grumble means the same as

(a) shout (b) complain (c) speak (d) say (e) voice

Link is to lank as tire is to
(a) tore (b) ture (c) told (d) tank (e) tare

If the althabet were reversed which letter would occupy

the position that L does now ‘

Garnish means the Seme as
(a) peint (b) draw (c) sculpture (d) sketch (e)

Indicate the word which does not belong
(a) sheep (b) dog (c) cat (d) mouse (e) monkey

What number comes next in the following series
001’ 002’ DOL’ 008

decorate

(£) tree

A car is travelling a distance of 140 mil-es. If it covers the

first half of the journey in 120 minutes and th

e second

half in 90 minutes, what 1is its average speed for the journey?

Print the letter in the word “Obnoxious". That is as far

from the beginning as "N" is from the end

Rake is to‘ take as rite is to
(a) tike (b) tite (c) tote (4) tete (e) tard

Trek means the same as
(a) walk (b) spin (c) drive (d) journey (e) eas

June is to November as January is to‘,

y

A boy covers k of hié journey on foot; he rides a streetcar
for 2/3 of his journey end then covers the final 3 miles of
his journey on foot again. How long was his jourg_ey?

If the alphebet started at K instead of A, what
be the ninth letter?

Expunge means the same &as
(2) trace (b) follow (c) allow (d) erase (e) se

May is to December as December is to

"wha,t ‘number cames next in the following series

3,‘ 6, -3, 10, 8

If two cars five miles spart are travelling tow
another at 80 and 40 M.P.H. respectively, how 1
it be before they meet? '

would then

ek

ards one
ong will



23.
2o
3.
26,

270

30,
31.
32,
33.

34

36.

'37.

39.
40.
41,

L2

43.

If all the letters in the word "Husky"™ were removed from the
alphabet what would then become the eighteenth letter?

What number comes next in the following series
13%, 12, 104, 9 SR .

-rtifice means the same as S
ial arti‘ficial (b) ruise (c) real (d) imaginary (e) plain

How many cubic feet of water will fill a tank 6 ft by
8% ft. by 11 ft.

Tell is to short as strong is to .
(a) able (b) willing (e¢) helpful (d) meek (e) weak

Plausible means the same as
(a) understandable (b) ‘thinkable (c) believable (d) touchable
(e) seeable :

If the day after tomrrow is Friday then the day before

yesterday was
Tell is to short as glant is to -
(a) elf (b) dwarf (¢) monster (d) fairy (e) goblin

What letter comes just as far after Q in ths alphabet as
. G comes after R in the word Parallelogram

Branch is to tree as soldier is to

(&) Army (b) Navy (c) Officer (d) Sailor (e) Merine

Dunce means the same as
(a) boy (b) dullard (c) girl (4) child (e) animal

What number comes next in the following series
10, 12, 15, 11, 13

If every third letter, namely .C, F, etc, were left out of the
alphabet, which letter would then become the tenth one?

A boy left home at 10 minutes past two o'clock, walking at
4 miles per hour. If he arrived at his destination at
40 minut.es past three o clock wmt distance had he covered‘?

If the alphabet were reversed which letter would occupy
the positlon that U does now

Veharent means the same &as

(a) long (b) inspired (c) short (d) ardent (e) hard

If 60 M,P.H. is equivalent to 88 feet per second, how fast
must a cer be travelling to cover 156 feet in fO.lI‘ seconds?

Pulverize means the same as
(a) crush (b)_hit (c) beat (d) slgp (e) push

Print the letter in the word "_Designate". That is as far
from the end as f’N" is from the beginning

Indicate the word thét does not belong
(a) round (b) square (¢) triangular (d) oval (e) egg

(f) oblong

Jenuary is to June as June is to



50,
51,
52,

53

55.
s6.
57.
.

59.

61.
62.
63.

64
65.

66.

What number come s next in the fo].lowizg series
12, 12, 18, 6, 6

A man mekes three purchases which amount to §3.66. If the sum

of the first and third purchases is" half that of the second’
one, vhat is the amount or the second purchase" ;

If the al;habet started at. G instead of A, what would then
be the fourteenth letter

Indicate the word which does not belong

(a) ook (b)_manusc’ript ((:_') ty pe (d) thesis (e) volume (f) tract

Tall is to éhort as faith i_s to
(a) creed (b) love (c) hope (d).sin (e} duty (f) distrust

Cipher means the seame asg
(a) writing (b) printing (c) code (d) menusceript (e) tale

Meal is to male as bear is to -
(a) tore (b) reab (c) rabe (d) bare (»e) boar

If all the letters in the word "Spaere"™ were removed from the
alphabet, what would then become the twentieth letter?

Indicate the word that does not belong

(a) sneke (b) document (c) soft (d) wire (e) plug (f) theatre

Putrify means the same as
(a) break (b) smash (¢) ruin (d) decay (e) loss

Print the fifth letter before the eighth letter sfter C in
the alphabet

Basy is to simple as scheme is to
(a) purposeful (b) plan (c) tele (d) story (e) move

Perforate means the same as

(&) push (b) throw (c) pierce (d) tear (e) pull

If the first of .Tanuary is a 'l'hursday what day must the last
day of the month be ' ,

What letter comes just as fer efter F in the alphabet
as ¢ comes after O in the word "Rethpect"

Indicate the word that does not belong
(a) match (b) coal (c) ash (d) wood, (e) coke (f) peper

In a certain code KLWPSHAL means “Depilate" Use this code
to write "Tide"

What is the number three elevenths of which is 33
One-sixth is to one-seventeenth as 68 is to

In a certain code LYGHUHN means "Remment". Use this code
to write Near ’

ndicate the group that does not belong
fa) %4 (b) 32 (c) 24 (d) 40 () 46 (£) 56

what number comes next in the folloning series
%, 3/6, 9/18

what number, when multiplied by itself, is 10 less than
one-fifth of 1757 :

y

L, o—



67.
68.

69.
0.

71,
72.
73.

T4 .

75

6
Indicate the word that does nct beldng
(a) lace (b) lang (e) live (d) love (e) move (f) lick

Print the eighth letter before the second letter after
P in the alphabet f _ L '

One-third-is to-one-seventh as™35 is to— T

Indicate the group that does not belong
(a) ACD (b) RTU (c) NPQ (d) EHI (e) LNO (f) DFG

4y %, 9, 1/3, 16

Indicate the word thet does not belong
(a) waste (b) paste (c) wet (d) wage (e) win (f) war

What number comes pext in the following series

One-sixth is to one-seventh as 42 is to

code "
In a certain ODQMFQ means "Create . Use this code to
write Care -

A ple is cut so that one piece, which is one tenth of the pie,

is twice as large as each of the other pisces. Into how
me ny pieces is the pie cut?

IF YOU HAVE ANY TIME IEFT GO BACK AND CHECK YOUR ANSWERS

()
._"......_,vt._m__.‘)_.
()
( )
( )
( )
( )
()
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o

2ad the following carefully:

1.
2
3e

4.
Se

6o

This is 2 short test to £ind ocut how quickly and accurately. you can answer
a serieg of simple questions,

Some of the questions are easy, Others are hard., No one is expscted to do
everything, but do the bsst you can.

If you cannot do any questicn, leave it out and go on to the next, Return
to it later if ycu have any time lefi.

When you finish one page go on to the next.
You may do any rough wcrk or figuring at the sides of the pages if ycu wish.

The answers are to be writter in the brackets at the right of the questions.

Jere are some practice questions to show what you are expected to do:

1.

What number comes next in the following ssries ?
2, 4, 6, 8, 10 (12 )
The numbers increase 2 at a time, thersfors ths number after 10 will

- be 12, and this number has been writtsn in the brackets at the right.

2.
3e

4,

Now go

6.
7
8.

Ye

10.

Which word does not belong in this list? ‘ ;
(a) green (b) violet (c) red (d) swset (e) yellow (£) black (d4)
These ars all colcurs except swset, so 4 isg written in the brackets,

Bird is to air ag fish is to
(a) water (b) swim (c) bait (d) net (e) catch {(a)
The answer is a, so this letter is written in the brackets,

ABCDEFGHIJKIMNOPQRSTUVWXYZ
Print the letter befors the sixtl letier from the beginning of the ( B )

alphabat,.
The sixth letter from the beginning of the alphabet is F, and the
the letter before it is E;, z0 E has been wrltitcn in the brackets,

last Tuesdey was April 19th. If next Thursday is thrae dayas awy,
what day of the menth is tcduy? ( 25)
Today must be Monday, April 25th, so 25 has been written in the brackets,

ahesd and try the following questious:

What number comes next in the followine series ?

1, 10, 2, 20, 3, 30 ()
which word does not belong in this 1list ? _

\(va) wood (b) iron (0) coppser (d) lead (9) tin (f) aluminum ( )

ow is to winter as rain is to

?:) water (b) umbrella (c) cloud (d) shower (e) summer ( )
Ono third of one half is ? ( )
A car is travelling at 60 n.p.ho.. How long will it take %o cover

240 miles ? ( y

The questions you have just done wers praciice guestiocns.
The questions in this test must be answered in the samo way
You will be given 35 minutes to do this test,

Azk no cuestions at all during the test,

DO NOT TURN OVER THIS P:GH UNTIL YOU ARE TOID TO D6 3C



1.

10.
11.

12,

13.

ls .
160
17.
18.

19.

Black is to white as big is to
(a) large (b) costly (c) more (d) smell (e) less

Indicate the word that does not belong
(a) birch (b) elm (c) trunk (d) oak (e) pine (£) maple

January is ,to Jum a8 April isvto_ e

Tall is to sh.ort as tme 15 to
(a) proper (b) untruth (c) false (d) honest (e) plain (f) doubt

Indicate the word that does mot belong
(a) orenge (b) apple (c) banana. (d) potato (e) pear (£) peach

Epoch means the same as
(a) race (b) man (c) history (d) era (e) nation

Engine is to car as dial is to
(a) tube (b) radio (c) aerial (a) star (e) stem

If the day after tomorrow is: Tuesday then the day beroro
yesterday was

“~

Pinnacle msans the same as
(a) mountain (b) clifr (e) hill (d) summit (e) dale

Wiat number comes next in the fo llcwing series
2, 6, 14, 30

If the althabet were reversed which letter would occupy
the position that M does Iow

Grief means the same as
(a) annoyance (b) anger (c) SOT TOW (d) temper (e) emotion

A car is travelling a distance of 200 miles. If it covers
the first half of the journey in 220 minutes and the :second
half in 180 minutes, what is its aversge speed for the journey?

Print the letter in'the word "Insufferable" that is as far
from the b_eginning as "s" is from thke end

Reke is to take as rage is
(a) tige (b) tarm (c) tage (d) tame (e) tort .

what number comes next in the following series
4y 3, 5, Ly 6

A boy covers 1/5 of his journey on foot; he rides a streetcar
for 4 of his journey and then covers the finel 2 miles of his
journey on foot. again. How long was his journey?

Link is to lank as mile is to
(a) mole (b) mill (c) male (d) mo re (e) mere

If the alphabet started at K instead of A, what would then be
the eldventh letter ,

Indicate the word that does not belong
(@) -scowl (b) grimace-{c)- laugh -(d)-sneer- (e) hear~(f) grin-

March is to September,as septenlber ig to

What numbercomes next in the following series
8, 3, 11, 9, 14 ' '



23.

25,

26 .

29.
30.
31.
32,

33.

34.
35.

36.

38.

39.
40.
Q.
42.
43-

by o

If two cars six miles apart are travelling towards one

another at 50 and 40 L‘I.P.H. respectively, how long will it be
before they meet?

If all the letters in the word “Spear" were removed from the
alrhabet, what would then become the thirteenth letter

Anxious meeans’ the 5 ame E AR
(a) calm (b) vweak ‘ ‘mrried (d) stmng (e) old
How many cubie feet ‘of- weter will rill a tank 5 £t. by 6 ft.
by 10§ ft. s SR O

Indicate the word which does not belon .
(a) ons (b) six (c) four (d) third (e) five (f) two

Pertain means the same ‘a8 - '
(a) aid (b) belong (c) leave (d) help (e) emit

Branch is to tree as wheel is to :
(a) road (b) lane (o) car (d) ‘whole (e) wheat

Tall is to short as giant is to
(a) elf (b) dwarf (c) monster (d) fairy (e) goblin

Enigma means the same a8
(e) riddle (‘o) test (c) try (d) extend (e) prove

what number comes next in the fo lloning series

1,2, 8 2,1

Aboy left hame at 20 minutes past two o'clock, walking at
3 miles per hour.. 1f he arrived at his destination at
four o'clock exactly, what distance had he covered?

If the alphabet: were reversed which letter would occupy
the position that V.does now

Verge means the same as . '
(a) grass (b) brink (c) brick (d) break (e) bring

What number canes next in the following series
27, 9, 3, 64, 16 »

If 60 M.P.H. is 'equi valent to g8 teot’ per second, how fast
must a car be travelling to cover 396 feet in six seconds?

Print the letter" in the word "Reesonable" that is as far
from the end as "N" is fmm the beginning

Indicate the word that does mot belong
(a) run (b) hop (c) walk (d) ¢limb (e) jump (f) skip

Pulverize means the ‘same as . ’
(a) crush (b) hit (c)A beat (d) slap (e) push

may is to December a November is to _'

.What number comes next in the fo llowing series
16, .6, 13, 11, lO T

Surly means tte same as.
(a) tired (b) lazy (c) easy (d) uncivil (e) polite

80, If the sum
A man makes three purchases which smount to $4.
of ‘the first and third purcheses is belf that of the second
GN6 what is the amount of the second purchase?



45.

46.

47
18.
2

500

520
53 L]
54
55.

56,

510 ’
T Aalphabet which letter wou 14 then bscome the sixth one?

If the elphabet started at F instead of A, what would then
be the twelfth letter? '

Tall is to short as haughty is to
(a) high (b) inhuman (c) intrepid (d) lowly (e} loving
(£) proud h A

¢ivil means the same as ;
(a) honest (b)~tme (c) polite (d4) rude (e) abrupt

If all the lettere in the word "Dirty" were removed from
the alphabet what would then beooma the thirteenth letter?

Purloin means the same &s
{a) hold (b) touch (c) run (d} steal (e) possess

Mesl is to male as bear is to
(a) bore (b) readb (c) rabe (d) bare (e) boar

If every third letter, namely C, F, etc, were left out of the
Easy ‘is to simple as wage is to
(a) salary (b) mon ey (c) table (d) amount (e) sum-

Futile means the same as
ia) useful (b) useless {c) easy (d) difficult (e) hard

if today is Friday what was the fifth day before tomorrow

What number comes mext in the following series
19 5, 9, 13

What letter comes just as far sfter B in the alphabet

. as N comes after P in the word "Sophisticstion"

57.
58.
60.

61.
62.
63.

64

é5.

66.
67.

Indicate the word thet does not belong
(a) man (b) more (c) mace {d) lace (e) mine (£) maid

Print the sixth letter before the third letter after
G in the alrhabet

Indicate the word that does not belorg
(a) man (b) key (c) pretty (d) road (e) house (f) shop

In a certain code KLWPSHAL means "Depilate". Use this code
to write "Tide" '

What is the number two thirds of which is 44
One-fifth is to one;ninm as. 45 1s to

What letter cames just as far after F in the alphabet
as D comes after X in the wrd ”Extraordinary"

In a cartain code RTTUDRXJMOX me ens “Appmaching" Use this
code to wr 1te Foach

What number qomes next in the following series

one-half is to one,-seventh as 28 is to

In a certain code XGMUVOMY means D:lsabuse. Use .this code

to write Dais .



68.
£9.
70.

71.

73
4.

75.

What number, when multiplied by itself, is 8 less than one

sixth of 144

Indicate the word that does not belong
(a) yet (b} bet (c) yard (d) yeast (e) year (f) young

Indicate the group that does mot belong ,
(a) ACD (b) RTU (c) NPQ. (d) EHI (e) LNO (f) DFG

Print the third letter before the seventh letter after
P in the alphabet '

- If today is Sunday and there are ten more days to go

in the month what will the last day of the month be?
One-fifth is to one-sixth as 24 is to

A ple is cut so that one piece, which is one-eleventh
of the pie, is twice as large as each of the other

~pieces. Into how many pleces is the pie cut?

Indicate the group that does not belong .
(a) 27 (b) 35 (c). 54 (a) 81 le) 63 (£) 18,

IF YOU HAVE ANY TIME LEFT GO BACK AND CEE(K YOUR ANSWERS
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Read the following carefullys

1. This is a short test to find out how quickly and accurately you can
answer & series of simple questions,

= 2. Some-of the questions are easy. Others-are hard. No one is expected-to do- — — -
everything, but do the best you can.

3¢ If you cannot do any question, leave it out and g0 on to the next. Return
to it later if you have any time left.

4. When you finish one page go on to the nexte
5o You may do any rough work or figuring on the blamk pages if you wish.

6o The answers are to be written in the brackets at the right of the questions,

Here are some practice questions to show what you are expected to des

1. What number cemes next in the follewing series ¢
2, 4, 6, 8, 10 _ (12 )
The numbers increase 2 at a time, therefere the number after 10 will
be 12, and this number has been written in the brackets at the right.

2o Indicate the word that dees net beleng
(a) green (b) vieclet (c) red (d) sweet () yellow (f) black (a)
These are all colours except sweet, so d is written in the brackets.

3o Bird is te air as fish is te
(a) water (b) swim (c) bait (d) net (e) catch (a)
The answer is a, so this letter is written in the brackets :

4, ABCDEFGHIJKLMNOPQRSTUVWXYZ
Print the letter bsfeore the sixth letter frem the beginning ef

the alphabet ' (B)
The sixth letter from the beginning of the alrhabet is F and the
letter befere it is E, 80 E has been written in the brackets.

Now go ahead and try the follewing questions:

5, What number cemes next in the following series?

1, 10, 2, 20, 3, 30 ( )
6. Indicate the word that dess not belengo

(a) wood (b) iren (c) copper (d) lead (e) tin (f) aluminum ( )
7. Snew is te winter és rain is te

(2) water (b) umbrella (o) cleud (d) shewer (e)»summer ( )
8o One third ef ene half is ? . ( )
9, A car is travelling at 60 mopehoo How long will it take te , ( )

cover 240 miles ?

The questions you have just done were practice questions.
The questions in this test must be answered in the same ways.
You will be given 25 minutes to do this test.

Ask no questions at all during the testo

DO NOT fURN OVER THIS PAGE UNTIL Y OU ARE TOLD TO DO SO



® ' Form A

. Black is to white as love is te

(a) affection (b) like (&) leave (d) hate (e) admire (i
. Rake is to take as rail is to o |
= a) tail“(b)-tale(c)-talk-(d)-tike (o) tame-— - — . el S

3. Tall is to short as seolid is teo
(a) hard (b) heavy (c) streng (d) reck (e) hollow (f) deep (

4. Indicate the grdup that does neot belong‘
(2) 30 (b) 70 (c) 80 (d) 75 (e) 40 (£) 90 (

5., Easy is to simple as vehicle is te .
(a) aereplene (b) car (c) horze (d) deg (e) vehement (

6. What number comes next in the following series?
TT1s01, 2.05, 3,09, 4.13 : (

7o Gratisz means the same as
(a) free (b) expensive (c¢) cheap () annoy (e) touch ;(

8, What number comes next in the following series?

1/3, 2/5, 3/7 (

9. How many cubic feet of water will fill a tank 5 1/2 ft. by 8 ft.
by 12 ft. ? (

10, Indicate the word that does not beleng,
‘(a) age (b) aim (c) again (d) plain (e) ace (f) art (

1l. Fracas means the same as
(a) push (b) pull (c) touch (d) rew (e) sleep (

12, Indicate the werd that does not beloﬁg. '
(a) image (v) picture (c) sketch (d) writing (e) copy (f) painting (

12, In a certain code PQNAZMUD ms;ns “Débonair”o ﬁso this cede te
write ®Robe®, . . (

14, Bendage means the same as
(a) punishment (b) slavery (c) imprisenment (d) trial (e) sentence (

15, What number comes next in the following series ?
16, 18, 22, 12, 14, 18 (

16, What number, when multiplied by itself, is 8 less than one quarter (
of 96 7 '

17, What number comes next in the following series 2

35 4, 5, 40 5 (
18, January is to June as May is to ' , | (
19, What letter cemes just as far after G in the alphabet as L comes ¢
after N in the werd “sincerely™ ? A
20, Print the letter in the word ™untenable™ that is as far frem the (
end as "B® is from the beginning. ,
21, What is the number three fifths of which is 27% (
22, What number comes next in the follewing series ? ) : (

9, 1/3, 25, 1/5, 49,

23, If the alphabet were reversed which letter would eccupy the pesitioen

that P does now ?



W4,

<

26,

27,

28,

29,

30,

Form A

A ple is cut se that ene piece, which is a quarter ef the pie, is twice

a3£%grge as each of the other pieces. Inte how many pleces is the pie
cu

glr-i-agch”ié”%3”§;§£;abg;"ggmgﬁgﬁgf~ié~ﬁ° e

Indicate the word that does not beleng
(a) save (b) sin (c) sound (d) sack (e) sad (f) bad

If teday is the twslfth of the month and a Ffi&ay, what day was the
first of the month?

Indicate the werd that doss net beleng . -
(a) wheel (b) saucer '{c) ceunt {(d) pestcard (e) moon (f) disc

If the alphabet started at M instead of A, what weuld then be the
ninth letter?

What number cemes next in the fellowing series

1, /3, 1/9, 4, 4/3

31,

32,

330

344

35,

36,

370

That is ths rumber three sevenths of which is 39

Indicate the werd that dees not belong
(a) tough (b) tack (c) touch (d) test (&) best (f) test

Print the letter in the werd "Omnipstent™ that is as far frem the
besginning as I is frem the end. .

TWhat number cemss next in the fellewing series?
10153 10509 1085

Despeil means the same as .
(a) push (b) plunder (c) steal (d) teuch (e) held

'In & certain ceds LZAPCHS means “ﬁs%ivul“; Use this code te write
Wrate® A . ]

GAunt msans the same as
(a) peor (b) lean (c) tender (d) hard (e) seft

38What number comes next in the féllowing series?

39,

40,

3125, 625, 125

Link is té lank as hire is te
() have (b) hold (c) here (d) hare (e) hoar

In a‘cerﬁain cede KPYIMBS means "Diréful”; Use this cede to write

"Lure® : : -

41,

42,

43,

44,

What letter comes just as far after N in the alphabet as L cemss
after U in the werd ®Insufferabls®3 »

If today is Monday and there are ten more days te go in the menth,
what will the last day of the month be 2

frint the letter in the werd “Obnexieus™ that is as far frem the
beginning as "N® is from the end.

June is to November as January is to

45,What latter comes just as far after F in the alphabet as C csmes after

0 in the word “Retrospect™ 2

()
¢ )
¢ )
( )
( )
( )
¢ )
¢ )
¢ )
¢ )
¢ )
¢ )
¢ )
« )
¢ )
( )
¢ )
«( )
( )
«( )
( )
( )



70 Rake is to take as rage is to

6o What number comes next in the following series?
2, 6, 14, 30 ‘

{2) tige (b) tarm (5) tage (d) tame (o) tort

480 May is to December as December is to

49, If ths alphabet started at X instead of A, what would then be the
eleventh letter? :

50, Verge means the sams as '
(a) grass (b)‘brink (c¢) brick (d) break (c)bring

51, Indicate the word that dees not belong
(a) man (b) mere (¢) mace (d) lace (e) mine (f) maid

52, What letter comes just as far after F in the—aiphabet as D comes
after X in the werd "Extraordinary® %

53, In a certain cede RTTUDRXJMOX means “Appreaching®, Use this cede
te write "Poach®, .

54, Indicate the grdup that dees net beleng
(a) 27 (b) 35 (¢) 54 (a) 81 (e) 63 (£) 18

€5. If the alphabet were reverSed, which letter would eccupy the
position that V does now 2

IF YOU HAVE ANY TIME IEFT GO BACK AND CHECK YOUR ANSWERS

( )
( )
( )
( )
( )
( )
( )
( )
( )
( )



CANADIAN ARMED FORCES CLASSIFICATION TEST

]

FILL IN THE FOLLOWING PARTICULARS WHEN YOU ARE TOLD

Your first name

Your last name

Formal schooling

Service centre

Date

Age in years

DO*NOT;OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO

FORM B



Read the

following carefullys

l. This is a short test to find out how quickly and accurately you can
answer a series of simple questions.

2. Some of the questions are easy. Others are hard. No one is expected to do
everything, but do the best you cano

3¢ If you cannot do any question, leave it out and go on to the next. Return
to it Iater if you have any time left,

4. When you finish one page go on to the next.

5o You may do any rough work or figuring on the blank pages if you wishe

6. The answers are to be'written in the brackets at the right of the questions.

Here are

some practice questions to show what you are expected to des

1. What number cemes next in the follewing series ¢

2o

3o

4,

2, 4, 6, 8, 10 (12 )
The numbers increase 2 at a time, therefere the number after 10 will
be 12, and this number has been written in the brackets at the right.

Indicate the word that dees not beleng
(a) green (b) violet (c) red (d) sweet (e) yellow (f) black (d)
These are all colours except sweet, so d is written in the brackets.

Bird is te air as fish is te
(a) water (b) swim (c¢) bait (d) net (e) catch (a)
The answer is a, so this letter is written in the brackets . ,

ABCDEFGHIJKIMNOPQRSTUVWXYZ

Print the letter before the sixth letter from the beginmning ef

the alphabet , (B
The sixth letter from the beginning of the alphabet is F and the

letter before it is E, 80 E has been written in the brackets.

New go ahead and try the follewing questions:

5,

6o

7o

8o

What number cemes next in the following series?

Indicate the werd that dees not beleng. ‘

(a) weod (b) iren (c) copper (d) lead (o) tin (f) aluminum ( )
Snew is te ﬁinter as rain is te

(a) water (b) umbrella (c) cleud (d) shewer (o) summer ( )
One third ef one half is 2 ' ()

9. A car is travelling at 60 mopehoo How long will it take te

cover 240 miles ? - ()

The questiens yeu have just done were practice questiens.
- The questions in this test must be answered in the same waye
You will be given-25 minutes te de this test.

Ask no questions at all during the test,

DO NOT TURN OVER THIS PAGE UNTIL Y OU ARE TOLD TO DO SO



1,

20
3o
4,
5o

6o

8e

S,

10,
11,

12,

13,

14,

15,
16.
17,
18.

lgg

20,

Bleck is to white as love is to

“(a) affection (b) like (c) leave (d) hate (e) admire

Rake is to take as rail is te
(2) tail (b) tale (c) taik (d) tike (o) tame

Tall is to short as solid is te
(a) hara (b) heavy (c).strong (d) rock (e) hellew () deep

Indjcate the group that does net belong‘,
(2) 30 (b) 70 (o) 20 (3) 75 (e) 40 (r) 90

Easy is to simple as vehicle is to
(a) aeroplane (b) car (¢) herse (d) deg (e) vehement

A boy cevers 1/6 of hisjourney en foot; he rides a strestcar fer
%/S of his journey and then cevers the final mile ef his ‘jeurnsy
sn fest again. Hew leng was hia Jjeurney ?

If 60 mepsho is equivalent te 88 feet per secend, how fast must .
car be travelling te cever 528 feet in feur sesends

What number cemes next in the fellewing series ?

2/7, 4/14, 8/21

A pie ia cut se that ene piece, whish is ene twelfth of the pie, is
twice as large ga.éach of the ether pieces. Inte hew many pieces is
the pie cut ? - ' ¥
Prinf the seventh letter befere the third letter after R in the
alphabet :

'What number cemes next in the fellewing series ?

10, 9, 13, 7, 6
TWhat is the number twe sevenths ef which is 14 ?

Indicate the werd that dees net beleng
(a) base (b) bey (c) bill (d) bald (e) brave (f) slave .

Form B

(

Print the ninth letter befere the secend letter after W in the slphabet(

Scintillato means the same as
() sparkle (b) gleam (c) pelish (d) rub (e) clean

(

If all the letters in the werd “Maize™ were remeved frem the alphabet,

what weuld then beceme the seventeenth letter 2

Indicate the werd that dees net beleng
(a) cat (b) cew (c) clean (d) claim (e) plain (f) clump

What is the mumber thres eighths ef which is 18 ?

' £t heme at 15 minutes past three s'cleck; walking at 6 miles
geg.goi:,'lf he arrived at his destinabien at 35 minutes past feur

e'cleck, what distance had he cevered ?

Turbulent means the same a2 ‘
(:; ;ezgy (b) seft (c) disturbed (d) eager (o) vain

e 1ing ‘a distance #f-150-niles. If it'cevers the first -
A s e e in 105 minutes and the secend half in 75 minutes,

half ef its jeurne

what is its average speed fer the jeurney ?



4 Ferm B

220 Print the feurth letter befere the seventh letter after F in the
&lphabet :

23, Indicate the greup that dees net beleng
() 21 (b) 35 (c) 63 (4) 43 (o) 12 (£) 56 (

240 If 211 the letters in the werd wGrodtm were remeved frem the alphabet,
what weuld then beceme the nindteenth letter 7

: 25, Factien means the same as '
(2) whele (b) sams (c) party (d) all (e) nene (

26o Print the feurth letter befere the eighth letter after L in the alphabet (

27, Odieus means the same as .
(a) loud (b) distant (c) near (d) distasteful (e)seft [{

28, If teday was the twelfth ef the menth and a Menday, what day was the
. first ef the menth 7 : _ (

29, What number cemes next in the fellewing series ?
1, 1/3, 1/9, 4, 4/3 (

3Qo Print the tenth letter befere the sixth letter after Q in the alphabet (

31, If t&dﬁy iz Thursday and there are ten msre days te ge in the menth,
what will the last day ef the menth be ? (

32, If the alphabet were reversed, which letter weuld eccupy the pesitien
that R dees new 2 .

3%, If 60 mopoh. is equivalent te 88 feet per secend, hew fast must a
car be travelling te cever 396 feet in three secends ? (

34, Indicate the werd that dees net beleng
(2) chair (b) plan (c¢) car (d) submarine (e) hard (f) lamp (

35, What number, when multiplied ﬁy itself, is é less than ene seventh (
of 154 7 :

36, Indicate the werd that dees net belsng
(a) urge (b) under (¢) urn (d) turn (e) use (f) utilize (

37, Print the fifth letter befere the seventh letter after C in the
alphabet, _(

38, What number, when multiplied by itself, is 6 less than ene third ef (
126-7 . -

39, Indicate thé werd that dees net beleng,
(a) 1air (b) hair (c) here (d) hew (e) have (f) held (

40, What number cemes next in the fellewing series?

19, 13, 18, 15, 17 _ (
41, Indicate the werd that dees net beleng

(a) keg (b) king (c) knee (d) knife (e) kneck (f) leck (

&L, the same as . .
# .%:gn;z?nﬁé?gg draw (c) sculpture (@) sketch (o) decerate (

B:. Print the fifth letter befere the eighth ‘let‘ber after C . in the
alphabet ' , (

e N



5 Ferm B

44, What number cemes next in the fellewin i
g series ?
3/1, 9/2, 27/3 (

45, W?a§7§u$ber, when multiplied by itself, is 10 less than ene fifth
* | (

460 If all the letters in the werd "Spear"™ were remeved frem the alphabet,
what weuld then “beceme the thirteenth letter?

470 What number cemes next in the fellewing series?

93 1/33 169 1/49 25 (
| 48, Enigma means the same as
(a) riddle (b) test (c) try (d) extend (e) preve (
49, ?ha? runber, when multiplied.by itself,.is 8 less than ene sixth ef
44 | (
50, .Surly means the same as
(a) tired (b) lazy (c) easy (d) uncivil (e) pelite ) (

51c What number cemes nsxt in the fellewing series?

Y2, 3/6, 9/18 (

52, If the secend day befere yesterday was Menday, what day will it be

temerrew ? €
53c What i= the number twe thirteenths ef which is 12 % . (
54, Burnish means the same as

(a) erase (b) pelish (c) reughen (d) rude (e) paste (
55, What number cemes next in the folicﬁing series ? ,

15, 3, 18, 8, 21 (

IF YOU HAVE ANY TIME LEFT GO BACK AND CHECK YOUR AKNSWERS
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CANADIAN ARMED FORCES CLASSIFICATION TEST
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FILL IN THE FOLLOWING PARTICULARS WHEN. YOU ARE TOLD

Your first name

Your last name

Formal schooling

Service centre

Date

Age in years

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO



Read the following carefullys

l. This is a short test to find out how quickly and accurately you can.
o answer a series of simple questions.
—— —

2. Some of the questions are easy., Others are hard. No one is expected to do

everything, but do the best you cano

3« If you cannot do any question, leave it out and go on to the next. Return
to it Iater if you have any time left,

4. When you finish one page go on to the next.
5o You may do any rough work or figuring on the blank pages if you wishe

6o The answers are to be written in the brackets at the right of the questions.

Here are some practice questions to show what you are expected te de:

1. What number cemes next in the follewing series T ‘
2, 4, 6, 8, 10 : (12 )
The numbers increase 2 at a time, therefere the number after 10 will
be 12, and this number has been written in the brackets at the righte.
2. Indicate the word that dees not beleng '
(a) green (b) violet (c) red (d) sweet (o) yellow (f) black (a)
These are all colours except sweet, so d is written in the brackets.

3o Bird is te air as fish is te
(a) water (b) swim (c¢) bait (d) net (e) catch (a)
The answer is a, s¢ this letter is written in the brackets . _

4, ABCDEFGHIJELMNOPQRSTUVWXYZ
Print the letter before the sixth letter from the beginning ef
the alphabet ' (B)
The sixth letter from the beginning of the alphabet is F and the
letter before it is E;, so E has been written in the brackets.

Now go ahead and try the follewing questions:

5, What number cemes next in the follewing series?

1, 10, 2, 20, 3, 30 ()
6o Iﬁéﬁéato the word that dees not beleng,

(2) wood (b) iren (c) copper (d) lead (e) tin (f) alumimum ( )
7o Snew is te winter as rain is te

(2) water (b) umbrella (¢) cleud (d) shewer (o) summer ( )
8. One third ef ene half is ? _ : | ()

9, A car is travelling at 60 mopehoo How lcng will it take te .
cover 240 miles ? : ( )

The questions you have just done were practice questions,
The questions in this test must be answered in the same WAy e
You will be given 25 minutes to do this test.

Ask no questions at all during the test.

DO NOT TURN OVER THIS PAGE UNTIL Y OU ARE TOLD TO DO SQ



3o
40
5,
6o
7o
8o
9

10,

11,
12,
13,
14,
15,

16,

17,
18.

19,

20,

21,

220’

23,

Black is te white as leve is te
(a) affection (b) like (c) leave (d) hate (e) admire
%‘ s - - S ___-_’V,_ e . o

Rake iz to take as rail is fb
(2) tail (b) tale (¢) talk (d) tike (e) tame

Tall is to short as solid is to
(a) hard (b) heavy (c) stréng (d) rock (e) hollow (f) deep

Indicate the group that does not belong.
(a) 30 (b) 70 (c) 80 (d) 75 (e) 40 (£) 90

Easy is to simple as vehicle is to
(a) aeroplane (b) car (c) horse (d) dog (e) vehement

What number comes next in the foilowing series?

1/2, 3/4, 5/8

Entail means the same as
(a) allow (b) permit (c) neccessitate (d) deny (e) hope

If two cars four miles apart are traveiling towﬁrds one another at 25
and 15 mepsh, respectively, how long will it be before they meet?

One-fourth is to one-fifth as 40 is to ?

A man makes three purchases, which amount to § 4,20, If the sum of
the first and third purchases is half that of the second one, what
is the amount of the second purchase ?

One=sixth is to one<eleventh as 33 is to ?

A boy covers 1/5 of his journey on foot; he rides a streetcar for
3/4 of his journey and covers the final 1 1/2 miles of his journey
on foot again., How long was his journsey ?

How many cubic feet of water will fill a tank 6 ft. by 10 1/2 ft,
by 11 ft. 2

What number comes next in the following series?

/3, 2/5, 4/7, /9

If the first of January is a Tuesday , what day must the last day of
the month be ?

One~third is to one=fourth as 12 is to ?

If today is the twelfth of the month and a Thursday, what day was the
first of the month ?

Portent means the same as
(a) view (b) look (e) sign (d) watch (e) leave

One-third is to one-eighth as 32 is to ?

 What number comes next in the following series ?

6, 11, 8, 7, 10
What is the number two elevenths of which is 18 ?
Onc=half is to ona%third as 18 is to ?

If the first of Jamuary is a Wednesday, what day must the last day
of the month be ? :



25,

26,
276

28,

29,
30,

31.

32,
330

34,

35,
36,

370

38,
39,

40,

4l.
42,

43,

44,

45,

4 "Form C

Onerous ﬁeans the same as
(a) 1ight (b) soft (c) heavy (d) sharp (e) dark

0ne=third is to one=tenth as 50 is to 2

What number comes next in the following series ?
3, 9, 4, 16, 5

If every fourth letter, namely D, H, etc., were left cut of the
alphabet, which letter would then become the thirteenth one ?

One= half is to one=fifth as 30 is to 7

What number comes next in the following series ?
4, 2/3, 5, 3/4, 6

If the first of January is a Saturday, what day must the last day of
the month be ¢ ’

One- third is to one-fifth as 20 is to 2

Print the ninth letter before the fourth letter after N in the
alphabet, .

What number comes next in the following series?
2, 8, 3, 27, 4 .

One= half is to one=eleventh as 33 is to 2

Indicate the word that does not belong.
(a) now (b) tomorrow (c) when (d) where (e) often (f) then

If the fifth day before yesterday was Monday, what day will it be
tomorrow ?

One=fifth is to one-eighth as 48 is to ?

If today was the twelfth of the month and a Wednesday, what day was
the first of the month ?

Indicate the group that does not belong,
(a) 9 (b) 12 %e) 17 (d) 6 (&) 45 (f) 51

One=seventh is to one-eleventh as 55 is to ?

Indicate the word that does not belong, .
(a) snake (b) document (c¢) soft (d)wire (e) plug (£) theatre

If the first of January is a Thursday, whatvdayjmust the last day of
the month be ?

What is the number three elevenths of which is 33 ?

' belong,
Indicate the group that does not
<:) 64 (b) 32 (c) 24 (a) 40 (e) 46 (£) 56 .

Print the eighth letter before the second letter after f in the
alphabe‘bo ‘

46 What number comes next in the following series ¢

16, 6, 13, 11, 10

(' 2_- -
( )
( )
( )
( )
( )
)
«( )
¢ )
( )
()
( )
( )
( );
( )
( )
( )
( )
( )
( )
( )
( )
( )



.. Purloin means the same as
(a) hold (b) touch (¢) run (d) steal (e) possess
%

Form C

- Ty .
- 48, One=fifth is to one=ninth as 45 is to 2%

49, Indicate the word that does not belong,.
(a) eat (b( feat (c) easy (d) erect (e) emulate (£) even

50, One-seventh is to one-ninth as 63 is to ?

51, Indicate the word that.doces not belon
(a) waste (b) paste (c) wet (d) wage %e) win (f) war

52. One-fifth is to ome=-sixth as 24 is to 2

530 If the first of January is a Friday , what day must the last day of
the month be ?

' 54, Ons- half is to one-seventh as 28 is to 1

55o What number comes next in the following series ?
3, 9, 8, 6, 13

_IF YOU HAVE ANY TIME LEFT GO BACK AND CHECK YOUR ANSWERS
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